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ijh{k.k iqfLrdk
lkekU; vè;;u

(flarcj eSx”khu tk¡p ijh{kk)
fnukad& 11-09-2022

le; % nks ?k.Vs	 iw.kk±d % 200

vuqns'k
	 1-	 ijh{kk izkjEHk gksus ds rqjUr ckn] vki bl ijh{k.k iqfLrdk dh iM+rky vo'; dj ysa fd blesa dksbZ fcuk 

Nik] iQVk ;k NwVk gqvk i`"B vFkok iz'u vkfn u gksA ;fn ,slk gks rks bls lgh ijh{k.k iqfLrdk ls cny 
yhft;sA

	 2-	 mÙkj&i=kd esa lgh LFkku ij ijh{k.k iqfLrdk vuqØe A, B, C ;k D ;FkkfLFkfr Li"V :i ls dwVc¼ dhft;sA 

	 3-	 bl iafDr ds lkFk esa fn;s x, dks"Bd esa vkidks viuk vuqØekad fy[kuk gSA ijh{k.k iqfLrdk ij vkSj oqQN u fy[ksaA
	 4-	 bl ijh{k.k iqfLrdk esa 100 iz'uka'k (iz'u) fn;s x, gSaA 

izR;sd iz'uka'k fganh vkSj vaxzs”kh eas Nik gSA izR;sd iz'uka'k 
esa pkj izR;qÙkj (mÙkj) fn;s x, gSaA buesa ls ,d izR;qÙkj 
dks pqu ysa] ftls vki mÙkj&i=kd ij vafdr djuk pkgrs gSaA ;fn vkidks ,slk yxs fd ,d ls vfèkd izR;qÙkj lgh 
gSa rks ml izR;qÙkj dks vafdr djsa tks vkidks loksZÙke yxsA izR;sd iz'uka'k ds fy;s dsoy ,d gh izR;qÙkj pquuk gSA

	 5-	 vkidks vius lHkh izR;qÙkj vyx ls fn;s x, mÙkj&i=kd ij gh vafdr djus gSaA mÙkj&i=kd esa fn;s x, funsZ'k 	
ns[k ysaA

	 6-	 lHkh iz'uksa ds vad leku gSaA

	 7-	 blls igys fd vki ijh{k.k iqfLrdk ds fofHkUu iz'uka'kksa ds izR;qÙkj mÙkj&i=kd ij vafdr djuk 'kq: djsa] vkidks 
izos'k izek.k&i=k ds lkFk izsf"kr vuqns'kksa ds vuqlkj dqN fooj.k mÙkj&i=kd esa nsus gSaA 

	 8-	 vki vius lHkh izR;qÙkjksa dks mÙkj&i=kd esa Hkjus ds ckn rFkk ijh{kk ds lekiu ij dsoy mÙkj&i=kd vèkh{kd dks 
lkSai nsaA vkidks vius lkFk ijh{k.k iqfLrdk ys tkus dh vuqefr gSA

	 9-	 dPps dke ds fy;s dqN i=kd ijh{k.k iqfLrdk ds var esa layXu gSaA

	 10-	 xyr mÙkjksa ds fy;s naM%
		  oLrqfu"B iz'ui=kksa esa mEehnokj }kjk fn;s x, xyr mÙkjksa ds fy;s naM fn;k tk,xkA
	 (i)	 izR;sd iz'u ds fy;s pkj oSdfYid mÙkj gSaA mEehnokj }kjk izR;sd iz'u ds fy;s fn;s x, ,d xyr mÙkj ds fy;s 

iz'u gsrq fu;r fd;s x, vadksa dk ,d&frgkbZ naM ds :i esa dkVk tk,xkA
	 (ii)	 ;fn dksbZ mEehnokj ,d ls vfèkd mÙkj nsrk gS] rks bls xyr mÙkj ekuk tk,xk] pkgs fn;s x, mÙkjksa esa ls ,d mÙkj 

lgh gks] ml iz'u ds fy;s mi;qZDrkuqlkj gh naM fn;k tk,xkA
	(iii)	 ;fn mEehnokj }kjk dksbZ iz'u gy ugha fd;k tkrk gS vFkkZr~ mEehnokj }kjk mÙkj ugha fn;k tkrk gS] rks ml iz'u ds 

fy;s dksbZ naM ugha fn;k tk,xkA

tc rd vkidks ;g ijh{k.k iqfLrdk [kksyus dks u dgk tk, rc rd u [kksysa

djsaV vQs;lZ VqMs
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	 1-	lwpuk çkS|ksfxdh vf/fu;e dh /kjk 69A fuEufyf•r 
esa ls fdUgsa çfrcaf/r djus dk vf/dkj ljdkj dks 
nsrs gSa\

	 1-	 jkT; dh lqj{kk 
	 2-	 ns'k dh laçHkqrk vkSj v•aMrk 
	 3-	 lkoZtfud O;oLFkk ds fgr esa fdlh lkexzh dh 

igq¡p 
	 4-	 fons'kh jkT;ksa ds lkFk eS=khiw.kZ laca/

	 	uhps fn;s x, dwV dk ç;ksx dj lgh mÙkj pqfu;s%
	 (a)	 dsoy 1] 2 vkSj 3 	 (b)	dsoy 1 vkSj 2 
	 (c)	 dsoy 3 vkSj 4  	 (d)	1] 2] 3 vkSj 4

	 2-	Hkkjr esa xSj&tekurh laKs; vijk/ ds lanHkZ esa fuEufyf•r 
dFkuksa ij fopkj dhft;s%

	 1-	 iqfyl fcuk okjaV ds vkjksih dks fxjÝrkj dj 
ldrh gSA

	 2-	 ,sls ekeys esa eftLVªsV fu/kZfjr djrk gS fd vkjksih 
tekur ij fjgk gksus ;ksX; gS ;k ughaA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 1	 (b)	dsoy 2 
	 (c)	 1 vkSj 2 nksuksa 	 (d)	u rks 1 vkSj u gh 2 

	 3-	vuqPNsn 22 ds çko/kuksa ds varxZr fuEufyf•r esa ls 
dkSu&ls 'kkfey gSa\

	 1-	 fxjÝrkjh dk dkj.k tkuus dk vf/dkj 
	 2-	 48 ?kaVs ds Hkhrj (;k=kk le; dks NksM+dj) eftLVªsV 

ds lkeus is'k gksus dk vf/dkj
	 3-	 dkuwuh tkudj ls ijke'kZ djus vkSj cpko djus 

dk vf/dkj 

	 	uhps fn;s x, dwV dk ç;ksx dj lgh mÙkj pqfu;s%
	 (a)	 dsoy 3 	 (b)	1 vkSj 3 
	 (c)	 1 vkSj 2 	 (d)	2 vkSj 3 

	 4-	fuEufyf•r dFkuksa ij fopkj dhft;s%
	 1-	 yksdlHkk dh çfØ;k vkSj dk;Z&lapkyu ds fu;e 

373 ds vuqlkj vè;{k fdlh lnL; ds vkpj.k 
esa xM+cM+h ik, tkus ij mls rqjar lnu ls gVus 
dk funZs'k ns ldrk gSA 

	 2-	 yksdlHkk dh çfØ;k vkSj dk;Z&lapkyu ds fu;e 
374 ds vuqlkj vè;{k ml lnL; dk uke ys 
ldrk gS] tks vè;{kihB ds çkf/dkj dh vogsyuk 
djrk gSA 

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 1 	
	 (b)	 dsoy 2 
	 (c)	 1 vkSj 2 nksuksa 
	 (d)	 u rks 1 vkSj u gh 2 

	 1.	 What are the rights to be enabled under Section 
69A of Communication Technology?

	 1.	 Security of the State
	 2.	 Sovereignty and integrity of the country
	 3.	 Access to any material in the interest of public 

order
	 4.	 Friendly relations with foreign states

		  Select the correct answer using the codes given 
below : 

	 (a)	 1, 2 and 3 only	 (b)	 1 and 2 only
	 (c)	 3 and 4 only	 (d)	 1, 2, 3 and 4
	 2.	 With reference to a non-bailable cognizable offense 

in India, consider the following statements:
	 1.	 Police can arrest the accused without warrant.
	 2.	 In such a case the magistrate determines 

whether the accused is fit to be released on 
bail.

		  Which of the statement(s) given above is/are 
correct? 

	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1, nor 2
	 3.	 Which of the following are covered under the 

provisions of Article 22?
	 1.	 Right to know the reason for the arrest
	 2.	 Right to appear before Magistrate within 48 

hours (excluding travel time)
	 3.	 Right to be consulted and defended by legal 

knowledge
		  Select the correct answer using the codes given 

below : 
	 (a)	 3 only	 (b)	 1 and 3 
	 (c)	 1 and 2 	 (d)	 2 and 3 
	 4.	 Considerthefollowing statements:
	 1.	 According to Rule 373 of the Procedure and 

Conduct of Business in the Lok Sabha, the 
Speaker can direct a member to withdraw from 
the House immediately if he/she is found to 
have any disturbance in his/her conduct.

	 2.	 According to Rule 374 of the Procedure and 
Conduct of Business in the Lok Sabha, the 
Speaker can name a member who disobeys 
the authority of the Chair.

		  Which of the statement(s) given above is/are 
correct? 

	 (a)	 1 only	
	 (b)	 2 only
	 (c)	 Both 1 and 2
	 (d)	 Neither 1, nor 2
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	 5-	fuEufyf•r esa ls lafo/ku dk dkSu&lk vuqPNsn lalnh; 

dk;Zokgh ij U;k;ky; ds gLr{ksi dks jksdrk gS\

	 (a)	 vuqPNsn 120 	 (b)	vuqPNsn 121 
	 (c)	 vuqPNsn 122 	 (d)	vuqPNsn 108 

	 6-	fo'o Mksfiax jks/h ,tsalh (WADA) ds lanHkZ esa fuEu-

fyf•r dFkuksa ij fopkj dhft;s%

	 1-	 bldh LFkkiuk varjkZ"Vªh; vksyafid lfefr ds rgr 

uoacj 1999 esa dh xbZ FkhA 

	 2-	 bls •sy esa Mksfiax ds f•ykiQ ;wusLdks varjkZ"Vªh; 

lEesyu (2005) }kjk ekU;rk çkIr gSA 
	 3-	 bldh çkFkfed Hkwfedk lHkh •syksa vkSj ns'kksa esa 

Mksfiax jks/h fu;eksa dk fodkl] lkeatL; vkSj 

leUo; djuk gSA 

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 	 (b)	dsoy 1 vkSj 2 
	 (c)	 dsoy 2 vkSj 3	 (d)	1] 2 vkSj 3 

	 7-	jk"Vªh; Mksfiax jks/h fo/s;d ds lanHkZ esa fuEufyf•r 

dFkuksa ij fopkj dhft;s%

	 1-	 bl fo/s;d esa jk"Vªh; Mksfiax jks/h ,tsalh dks 

laoS/kfud fudk; dk ntkZ fn;k x;k gSA 

	 2-	 bl fo/s;d ds rgr jk"Vªh; Mksfiax jks/h ,tsalh 

O;fDrxr MsVk ds laxzg] mi;ksx] çlaLdj.k vkSj 

çdVhdj.k ds fy;s çfØ;k fu/kZfjr djsxhA 

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 	
	 (b)	 dsoy 2 
	 (c)	 1 vkSj 2 nksuksa 
	 (d)	 u rks 1 vkSj u gh 2 

	 8-	pquko fpÉ (vkj{k.k vkSj vkoaVu) vkns'k] 1968 ds 

lanHkZ esa fuEufyf•r dFkuksa ij fopkj dhft;s%

	 1-	 blds rgr pquko vk;ksx dks fdlh jktuhfrd ny 

ds foHkktu dh fLFkfr esa fofHkUu çfr}a}h lewgksa 

;k oxks± ds chp ny ds uke o çrhd fpÉ tSls 

fooknksa ds fuLrkj.k dk vf/dkj fn;k x;k gSA 

	 2-	 fuokZpu vk;ksx }kjk fy;k x;k fu.kZ; lHkh çfr}a}h 

oxks±@lewgksa ij ckè;dkjh gksxkA 

	 3-	 fuokZpu vk;ksx dks jk"Vªh; vkSj jkT; nyksa ds chp 

,sls fooknksa esa iQSlys lqukus dk vf/dkj gSA 

	 	mi;ZqDr dFkuksa esa ls dkSu&ls lgh gSa\

	 (a)	 dsoy 1 vkSj 2 	 (b)	dsoy 2 vkSj 3 
	 (c)	 dsoy 1 vkSj 3 	 (d)	1] 2 vkSj 3 

	 5.	 Which one of the following Articles of the 
Constitution forbids the interference of the Court 
on Parliamentary Proceedings?

	 (a)	 Article120 	 (b)	 Article121
	 (c)	 Article122 	 (d)	 Article108
	 6.	 With reference to the World Anti-Doping Agency 

(WADA), consider the following statements:
	 1.	 It was established in November 1999 under 

the International Olympic Committee.
	 2.	 It is recognized by the UNESCO International 

Convention against Doping in Sport (2005).
	 3.	 Its primary role is to develop, harmonize 

and coordinate anti-doping regulations in all 
sports and countries.

		  Which of the statement(s) given above is/are 
correct? 

	 (a)	 1 only	 (b)	 1 and 2 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3 
	 7.	 With reference to the National Anti-Doping Bill, 

consider the following statements:
	 1.	 In this bill, the status of a constitutional body 

has been given to the National Anti-Doping 
Agency.

	 2.	 Under the Bill, the National Anti-Doping 
Agency will lay down procedures for the 
collection, use, processing and disclosure of 
personal data.

		  Which of the statement(s) given above is/are 
correct? 

	 (a)	 1 only
	 (b)	 2 only
	 (c)	 Both 1 and 2	
	 (d)	 Neither 1, nor 2
	 8.	 With reference to the Election Symbols 

(Reservation and Allotment) Order, 1968, consider 
the following statements:

	 1.	 Under this, the Election Commission has 
been empowered to settle disputes such as 
the name and symbol of the party between 
different rival groups or classes in the event 
of the split of a political party.

	 2.	 The decis ion taken by the Elect ion 
Commission will be binding on all the rival 
classes/groups.

	 3.	 The Election Commissionisem powered 
topronounce judgment sinsuch disputes 
between national and state level parties.

		  Which of the statements given above are correct?
	 (a)	 1 and 2 only	 (b)	 2 and 3 only
	 (c)	 1 and 3 only	 (d)	 1, 2 and 3 
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	 9-	ve`r ljksoj fe'ku ds lanHkZ esa fuEufyf•r dFkuksa ij 
fopkj dhft;s% 

	 1-	 bldk mn~ns'; ns'k ds çR;sd ftys esa 75 ty 
fudk;ksa dk fodkl vkSj dk;kdYi djuk gSA 

	 2-	 HkkLdjkpk;Z jk"Vªh; varfj{k vuqç;ksx vkSj Hkw&lwpuk 
foKku laLFkku dks fe'ku ds fy;s rduhdh Hkkxhnkj 
ds :i esa fu;qDr fd;k x;k gSA 

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 1 	 (b)	dsoy 2 
	 (c)	 1 vkSj 2 nksuksa 	 (d)	u rks 1 vkSj u gh 2 

	10-	GOAL dk;ZØe ds lanHkZ esa fuEufyf•r dFkuksa ij 
fopkj %

	 1-	 GOAL dk iwjk uke ̂ xksbax vkWuykbu ,t yhMlZ* gSA
	 2-	 bldk mn~ns'; çf'k{kd vkSj çf'k{kq dh vo/kj.kk 

ds ekè;e ls vkfnoklh ;qokvksa vkSj efgykvksa dk 
fMftVy l'kDrhdj.k djuk gSA 

	 3-	 ;g dk;ZØe iwjh rjg ls Hkkjr ljdkj }kjk 
foÙkiksf"kr gSA

	 4-	 bl dk;ZØe dk nwljk pj.k vkfnoklh leqnk;ksa 
ds lHkh yksxksa ds fy;s •qyk jgsxkA

	 	mi;ZqDr dFkuksa esa ls dkSu&ls lgh gSa\
	 (a)	 dsoy 1] 2 vkSj 4 	 (b)	dsoy 1] 2 vkSj 3 
	 (c)	 dsoy 3]vkSj 4  	 (d)	1] 2] 3 vkSj 4

	 11-	11oha Ñf"k tux.kuk ds lanHkZ esa fuEufyf•r dFkuksa 
ij fopkj dhft;s%

	 1-	 bl tux.kuk esa igyh ckj MsVk laxzg LekVZiQksu 
vkSj VScysV ij fd;k tk,xkA 

	 2-	 Ñf"k tux.kuk dk dk;Z vxLr 2022 esa 'kq: gksxkA 

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 1 	 (b)	dsoy 2 
	 (c)	 1 vkSj 2 nksuksa 	 (d)	u rks 1 vkSj u gh 2 

	 12-	pkyw •krk ds varxZr fuEufyf•r esa ls dkSu&lk@ls 
'kkfey gksrs gS@gSa\

	 1-	 O;kikj •krk 	 2-	vn`'; •krk 
	 3-	 iwath •krk 

	 	uhps fn;s x, dwV dk ç;ksx dj lgh mÙkj pqfu;s%
	 (a)	 dsoy 1 	 (b)	1 vkSj 3 
	 (c)	 2 vkSj 3 	 (d)	1 vkSj 2

	 13-	;fn Hkkjrh; #i;k de”kksj gksrk gS rks mldk D;k çHkko 
iM+sxk\

	 1-	 eg¡xk vk;kr
	 2-	 Hkkjr esa fons'kh fuos'kdksa dks ykHk
	 3-	 fons'kksa esa dtZ ysus okys Hkkjrh; dks ykHk 

	 	uhps fn;s x, dwV iz;ksx dj lgh mÙkj pqfu;s% 
	 (a)	 dsoy 1 	 (b)	dsoy 3 
	 (c)	 2 vkSj 3	 (d)	1 vkSj 2

	 9.	 With reference to the Amrit Sarovar Mission, 
consider the following statements:

	 1.	 It aims to develop and rejuvenate 75 water 
bodies in each district of the country.

	 2.	 Bhaskaracharya National Institute of Space 
Applications and Geo-informatics has been 
appointed as the technical partner for the 
mission.

		  Which of the statement(s) given above is/are 
correct? 

	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1, nor 2
	 10.	 With reference to the GOAL programme, consider 

the following statements:
	 1.	 The full name of GOAL is 'Going Online As 

Leaders'.
	 2.	 It aims at digital empowerment of tribal youth 

and women through the concept of trainer and 
trainee.

	 3.	 This program is fully funded by the 
Government of India.

	 4.	 The second phase of this program will be open 
to all the people of tribal communities.

		  Which of the statements given above are correct?
	 (a)	 1, 2 and 4 only	 (b)	 1, 2 and 3 only
	 (c)	 3, and 4 only	 (d)	 1, 2, 3 and 4
	 11.	 With reference to the 11th Agriculture Census, 

consider the following statements:
	 1.	 For the first time in this census data collection 

is being done on smartphones and tablets.
	 2.	 Agriculture census work will start in August 

2022.
		  Which of the statements given above is/are correct? 
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1, nor 2
	 12.	 Which of the following is/are included under 

Current Account?
	 1.	 Business Account	 2.	 Invisible Account
	 3.	 Capital Account
		  Select the correct answer using the codes given 

below:
	 (a)	 1 only	 (b)	 1 and 3 
	 (c)	 2 and 3 	 (d)	 1 and 2
	 13.	 What will be its impact if the Indian rupee 

weakens?
	 1.	 Expensive Imports
	 2.	  Benefits to Foreign Investors in India
	 3.	 Benefits to Indians taking loans abroad
		  Select the correct answer using the codes given 

below:  
	 (a)	 1 only	 (b)	 3 only
	 (c)	 2 and 3	 (d)	 1 and 2
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	14-	çkFkfed Ñf"k ½.k lfefr (PACS) ds lanHkZ esa 

fuEufyf•r dFkuksa ij fopkj dhft;s%

	 1-	 ;g fdlkuksa dks nh?kZdkyhu ½.k çnku djrh gSA 

	 2-	 bldk mn~ns'; lnL;ksa dks mfpr ewY; ij Ñf"k 

buiqV ,oa lsokvksa dh vkiwfrZ djukA 

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 
	 (b)	 dsoy 2 
	 (c)	 1 vkSj 2 nksuksa 	
	 (d)	 u rks 1 vkSj u gh 2 

	 15-	fxx vFkZO;oLFkk ds lanHkZ esa fuEufyf•r dFkuksa ij 

fopkj dhft;s 

	 1-	 ;g ,d eqDr ck”kkj ç.kkyh gSA 

	 2-	 bl ç.kkyh esa ikjaifjd fu;ksDrk&deZpkjh laca/ 

ds ckgj Lora=k Jfedksa ds lkFk vuqca/ djrs gSaA

	 3-	 mUgsa eksVs rkSj ij IysViQkWeZ rFkk xSj&IysViQkWeZ&vk/kfjr 

deZdkjksa esa oxhZÑr fd;k tk ldrk gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&ls lgh gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	dsoy 2 vkSj 3
	 (c)	 dsoy 1 vkSj 3	 (d)	1] 2] vkSj 3 

	 16-	tSo vFkZO;oLFkk ds lanHkZ esa fuEufyf•r dFkuksa ij 

fopkj dhft;s%

	 1-	 gky gh esa uhfr vk;ksx us tSo vFkZO;oLFkk fjiksVZ 

2022 tkjh dh gSA 

	 2-	 tSo vFkZO;oLFkk esa mu lHkh {ks=kksa ,oa ç.kkfy;ksa 

dks 'kkfey fd;k x;k gS] tks tSfod lalk/uksa] 

muds dk;ks± ,oa fl¼karksa ij fuHkZj gSA 

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 	 (b)	dsoy 2 
	 (c)	 1 vkSj 2 nksuksa 	 (d)	u rks 1 vkSj u gh 2 

	17-	Hkqxrku fotu] 2025 ds lanHkZ esa fuEufyf•r dFkuksa 

ij fopkj dhft;s%

	 1-	 ;g foÙk ea=kky; dh ,d igy gSA

	 2-	 bldk eq[; mn~ns'; ØsfMV dkMZ ds mi;ksx dks 

c<+kuk gSA

	 3-	 bldk mn~ns'; fMftVy Hkqxrku LFkkiR; dks c<+kok 

nsuk vkSj fofu;fer djuk gSA

	 	mi;ZqDr dFkuksa esa ls dkSu lk@ls lgh gS@gSa\

	 (a)	 1 vkSj 2 	 (b)	dsoy 2 
	 (c)	 1 vkSj 3 	 (d)	dsoy 3 

	 14.	 With reference to the Primary Agricultural Credit 
Society (PACS), consider the following statements:

	 1.	 It provides long term loans to farmers.
	 2.	 Its objective is to supply agricultural inputs 

and services to the members at reasonable 
prices.

		  Which of the statement(s) given above is/are 
correct? 

	 (a)	 1 only	
	 (b)	 2 only
	 (c)	 Both 1 and 2
	 (d)	 Neither 1, nor 2
	 15.	 With reference to the gig economy, consider the 

following statements
	 1.	 It is a free market system.
	 2.	 In this system, traditional employers enter into 

contracts with independent workers outside 
the employee relationship.

	 3.	 They can be broadly classified into platform 
and non-platform-based workers.

		  Which of the statements given above are 
correct?

	 (a)	 1 and 2 only	 (b)	 2 and 3 only
	 (c)	 1 and 3 only	 (d)	 1, 2 and 3
	 16.	 With reference to bioeconomy, consider the 

following statements:
	 1.	 Recently NITI Aayog has released the 

Bioeconomy Report 2022.
	 2.	 Bio-economy includes all those sectors and 

systems which are dependent on biological 
resources, their functions and principles.

		  Which of the statement(s) given above is/are 
correct? 

	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1, nor 2
	 17.	 With reference to Payment Vision 2025, consider 

the following statements:
	 1.	 This is an initiative of the Ministry of Finance.
	 2.	 Its main objective is to increase the usage of 

credit cards.
	 3.	 It aims to promote and regulate the digital 

payments architecture.
		  Which of the above statement(s) is/are correct?		
	 (a)	 1 and 2 	 (b)	 2 only
	 (c)	 1 and 3 	 (d)	 3 only
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	18-	^tekur ckW.M* ds lanHkZ esa fuEufyf•r dFkuksa ij 
fopkj dhft;s%

	 1-	 chek daiuh }kjk Bsdsnkj dh vksj ls ml laLFkk dks 
tekurh ckW.M çnku fd;k tkrk gS] tks ifj;kstuk 
'kq: dj jgh gSA

	 2-	 blesa dsoy eq[; i{k vkSj vksfCyxh ds chp 
nks&i{kh; le>kSrk 'kkfey gSA

	 3-	 dkuwuh :i ls ckè;dkjh vuqca/ gSA 

	 	mi;ZqDr dFkuksa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 1 	 (b)	dsoy 2 
	 (c)	 2 vkSj 3 	 (d)	1 vkSj 3

	19-	lkoZtfud&futh Hkkxhnkjh (PPP) ekWMy ds lanHkZ esa 
fuEufyf•r dFkuksa ij fopkj dhft;s%

	 1-	 fcYM&vkWijsV&VªkaliQj (BOT) ekWMy ds varxZr 
futh lk>snkj ij vuqcaf/r vof/ ds nkSjku <k¡pkxr 
ifj;kstuk ds fMtkbu] fuekZ.k ,oa ifjpkyu dh 
iwjh f”kEesnkjh gksrh gSA 

	 2-	 fcYM&vkWijsV&VªkaliQj ekWMy esa futh lk>snkj 
lqfo/k dk mi;ksx djus okys xzkgdksa ls Vksy ds 
ekè;e ls fuos'k dh HkjikbZ djrk gSA 

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa
	 (a)	 dsoy 1 	 (b)	dsoy 2 
	 (c)	 1 vkSj 2 nksuksa 	 (d)	u rks 1 vkSj u gh 2 

	20-	foÙkh; lsok laLFkku C;wjks ds lanHkZ esa fuEufyf•r dFkuksa 
ij fopkj dhft;s%

	 1-	 bls cSad cksMZ C;wjks ds LFkku ij LFkkfir fd;k 
tk,xkA 

	 2-	 blds vf/dkj {ks=k BBB ds leku gh gksaxsA
	 3-	 ;g lkoZtfud {ks=k ds cSadksa vkSj chek daifu;ksa 

ds çeq•ksa dk p;u djsxkA 

	 	mi;ZqDr dFkuksa esa ls dkSu&ls lgh gSa\
	 (a)	 dsoy 1 vkSj 2	 (b)	dsoy 2 vkSj 3
	 (c)	 dsoy 1 vkSj 3	 (d)	1] 2] vkSj 3 

	 21-	fons'kh va'knku (fofu;eu) vf/fu;e ds lanHkZ esa 
fuEufyf•r dFkuksa ij fopkj dhft;s%

	 1-	 foÙk ea=kky; fons'kh va'knku ds fu;eu dk uksMy 
ea=kky; gSA

	 2-	 bl dkuwu ds vuqlkj /u çkIr djus okys lHkh 
xSj&ljdkjh laxBuksa dks FCRA ds rgr iathÑr 
gksuk gksxkA 

	 3-	 fons'kh va'knku çkIr djus ds fy;s fnYyh esa 
Hkkjrh; LVsV cSad dh 'kk•k esa ,d cSad •krk 
•ksyuk vfuok;Z gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&ls lgh gSa\
	 (a)	 dsoy 1 vkSj 2	 (b)	dsoy 2 vkSj 3
	 (c)	 dsoy 1 vkSj 3	 (d)	1] 2] vkSj 3 

	 18.	 With reference to 'Bail Bond', consider the 
following statements:

	 1.	 A surety bond is provided by the insurance 
company on behalf of the contractor to the 
institution which is undertaking the project.

	 2.	 It consists only of a two-party agreement 
between the main party and Obligee.

	 3.	 A legally binding contract.
		  Which of the above statement(s) is/are correct?		
	 (a)	 1 only	 (b)	 2 only
	 (c)	 2 and 3 	 (d)	 1 and 3
	 19.	 With reference to the Public-Private Partnership 

(PPP) model, consider the following statements:
	 1.	 Under the Build-Operate-Transfer (BOT) 

model, the private partner is fully responsible 
for the design, construction and operation 
of the infrastructure project during the 
contracted period.

	 2.	 In the build-operate-transfer model, the 
private partner reimburses the investment 
by way of toll from the customers using the 
facility.

		  Which of the above statement(s) is/are correct		
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1, nor 2
	 20.	 With reference to the Bureau of Financial Services 

Institutions, consider the following statements:
	 1.	 It will be set up at the place of Banks Board 

Bureau.
	 2.	 Its jurisdiction will be the same as that of the 

BBB.
	 3.	 It will select the heads of public sector banks 

and insurance companies.
		  Which of the statements given above are correct?
	 (a)	 1 and 2 only	 (b)	 2 and 3 only
	 (c)	 1 and 3 only	 (d)	 1, 2 and 3
	 21.	 With reference to the Foreign Contribution 

(Regulation) Act, consider the following 
statements:

	 1.	 The Ministry of Finance is the nodal ministry 
for regulation of foreign contribution.

	 2.	 According to this law all non-governmental 
organizations receiving funds have to be 
registered under FCRA.

	 3.	 It is mandatory to open a bank account with 
State Bank of India branch in Delhi for 
receiving foreign contribution.

		  Which of the statements given above are correct?
	 (a)	 1 and 2 only	 (b)	 2 and 3 only
	 (c)	 1 and 3 only	 (d)	 1, 2 and 3
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	 22-	fuEufyf•r dFkuksa ij fopkj dhft;s%
	 1-	 foaMiQkWy VSDl fdlh fo'ks"k daiuh ;k m|ksx dks 

gq, vpkud cM+s equkiQs ij yxk;k x;k mPp dj 
nj gSA

	 2-	 oSf'od eanh dh vk'kadkvksa dk eqdkcyk djus ds 
fy;s ljdkj }kjk isVªksy ds fu;kZr ij foaMiQkWy 
VSDl gVk fn;k x;k gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa
	 (a)	 dsoy 1 	 (b)	dsoy 2 
	 (c)	 1 vkSj 2 nksuksa 	 (d)	u rks 1 vkSj u gh 2 

	 23-	G7 ds lanHkZ esa fuEufyf•r dFkuksa ij fopkj dhft;s%
	 1-	 twu 2022 esa vk;ksftr 48osa G7 f'k•j lEesyu 

dh vè;{krk Úk¡l }kjk dh xbZA
	 2-	 ;g ,d varj&ljdkjh laxBu gS] ftldk xBu 

o"kZ 1975 esa fd;k x;k FkkA
	 3-	 ;wjksih; la?k G7 dk ,dek=k xSj&x.kuk lnL; gSA
	 4-	 G-7 laf/ ij vk/kfjr gS vkSj bldk LFkk;h 

lfpoky; gSA
	 5-	 G-7 ds lHkh ns'k ukVks lewg ds lnL; gSaA 

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 1] 2] 4 vkSj 5	 (b)	dsoy 2 vkSj 3
	 (c)	 dsoy 1] 3 vkSj 5	 (d)	1] 2] 3] 4 vkSj 5

	24-	fuEufyf•r esa ls fdl lewg ds lHkh pkjksa ns'k I2U2 
ds lnL; gSa\

	 (a)	 Hkkjr] btjk;y] ;wukbVsM fdaxMe] la;qDr vjc 
vehjkr

	 (b)	 Hkkjr] baMksusf'k;k] ;wukbVsM fdaxMe] la;qDr vjc 
vehjkr

	 (c)	 bZjku] btjk;y] la;qDr jkT; vesfjdk] ;wukbVsM 
fdaxMe

	 (d)	 Hkkjr] btjk;y] la;qDr jkT; vesfjdk] la;qDr vjc 
vehjkr

	25-	ikVZulZ bu n Cyw iSflfiQd (PBP) ds lanHkZ esa fuEufyf•r 
dFkuksa ij fopkj dhft;s%

	 1-	 n ikVZulZ bu n Cyw iSflfiQd (PBP) igy ç'kkar 
}hiksa dk leFkZu djus vkSj {ks=k esa jktuf;d o 
vkfFkZd laca/ksa dks c<+kok nsus ds fy;s ika¡p ns'kksa 
dk ^vukSipkfjd ra=k* gSA

	 2-	 vesfjdk] ;wukbVsM fdaxMe] vkWLVªsfy;k] tkiku vkSj 
Hkkjr blds lnL; gSaA

	 3-	 ç'kkar egklkxj {ks=k esa phu dh vkØkedrk dks 
çfrlarqfyr djus ds fy;s }hih; ns'kksa dks vf/d 
lalk/u miyC/ djokuk gSA 

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 1 	 (b)	dsoy 2 
	 (c)	 2 vkSj 3 	 (d)	1 vkSj 3

	 22.	 Consider the following statements:
	 1.	 Windfall tax is a high tax rate levied on sudden 

large profits made to a particular company or 
industry.

	 2.	 The windfall tax on the export of petrol has 
been removed by the government to counter 
the fears of a global recession.

		  Which of the above statement(s) is/are correct		
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1, nor 2
	 23.	 With reference to G7, consider the following 

statements:
	 1.	 The 48th G7 summit held in June 2022 was 

chaired by France.
	 2.	 It is an inter-governmental organization, 

which was formed in the year 1975.
	 3.	 The European Union is the only non-counting 

member of the G7.
	 4.	 The G-7 is based on the treaty and has a 

permanent secretariat.
	 5.	 All G-7 countries are members of the NATO 

grouping.
		  Which of the statement(s) given above is/are 

correct? 
	 (a)	 1, 2, 4 and 5	 (b)	 2 and 3 only
	 (c)	 only 1, 3 and 5	 (d)	 1, 2, 3, 4 and 5
	 24.	 All four countries of which of the following group 

are members of I2U2?
	 (a)	 India, Israel, United Kingdom, United Arab 

Emirates
	 (b)	 India, Indonesia, United Kingdom, United 

Arab Emirates
	 (c)	 Iran, Israel, United States, United Kingdom
	 (d)	 India, Israel, United States, United Arab 

Emirates
	 25.	 With reference to Partners in the Blue Pacific 

(PBP), consider the following statements:
	 1.	 It is an “informal mechanism” to support 

Pacific islands and to boost diplomatic, and 
economic ties in the pacific region.

	 2.	 The United States, the United Kingdom, 
Australia, Japan and India are its members.

	 3.	 To counter China's aggression in the Pacific 
Ocean, island countries have to be made 
available more resources.

		  Which of the statement(s) given above is/are 
correct? 

	 (a)	 1 only	 (b)	 2 only
	 (c)	 2 and 3 	 (d)	 1 and 3
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	 26-	fgan egklkxj vkSj ç'kkar egklkxj esa phu dh vkØedrk 

dks fu;af=kr djus ds fy;s igyksa esa fuEufyf•r esa ls 

dkSu&ls 'kkfey gSa\

	 1-	 DokM igy 	
	 2-	 vkWdl 

	 3-	 ekykckj lSU; vH;kl

	 4-	 ,DV bZLV ikWfylh

	 5-	 baMks&iSflfiQd bdksukWfed ÚseodZ iQkWj çkWLisfjVh 

	 	uhps fn;s x, dwV dk ç;ksx dj lgh mÙkj pqfu;s%

	 (a)	 1] 2] 3 vkSj 5
	 (b)	 dsoy 2 vkSj 4
	 (c)	 dsoy 1] 3 vkSj 5
	 (d)	 1] 2] 3] 4 vkSj 5

	 27-	fuEufyf•r ;qXeksa ij fopkj dhft;s%

	 	 ns'k 		 gky gh esa lekpkjksa 	
			 esa gksus dk egÙoiw.kZ 	
			 dkj.k

	 1-	 Jhyadk 	 —	 vkfFkZd ladV ds dkj.k 

	 	 		 	 jk"Vªifr dk bLrhiQk 

	 2-	 viQxkfuLrku 	 —	 xq# }kjk n'kes'k firk 	

		 	 xq# xksfoan flag djrs 	

		 	 ijoku ij geyk 

	 3-	 ukbthfj;k 	 —	 mPp Js.kh ds fyfFk;e 

	 	 		 	 dh •kst 

	 	mi;ZqDr ;qXeksa esa ls fdrus ;qXe lgh lqesfyr gSa\

	 (a)	 dksbZ Hkh ;qXe ugha 	 (b)	dsoy ,d ;qXe 

	 (c)	 dsoy nks ;qXe 	 (d)	lHkh rhuksa ;qXe 

	28-	fuEufyf•r ns'kksa ij fopkj dhft;s%

	 1-	 viQxkfuLrku 	 2-	m”csfdLrku 

	 3-	 dtk•Lrku	 4-	fdfxZLrku 

	 5-	 rqdZesfuLrku

	 	mi;ZqDr esa ls fdudh lhek,¡ rkftfdLrku ds lkFk yxrh 

gSa\

	 (a)	 dsoy 1] 2 vkSj 4 	 (b)	dsoy 1] 2] 3 vkSj 5
	 (c)	 dsoy 3] 4 vkSj 5 	 (d)	1] 2] 3] 4 vkSj 5

	29-	iSaxksax&Rlks >hy ds lanHkZ esa fuEufyf•r dFkuksa ij 

fopkj dhft;s%

	 1-	 •kjs ikuh dh >hy gksus ds ckotwn ;g iwjh rjg 

ls te tkrh gSA

	 2-	 ;g jax cnyus dh viuh {kerk ds pyrs yksdfç; gSA

	 3-	 ;g HkwVku vkSj Hkkjr ds chp ,d VªkalckWMZj >hy gSA

	 4-	 bls jkelj LFky ds :i esa ekU;rk çkIr gSA

	 26.	 Which of the following are included in the 
initiatives to control China's aggression in the 
Indian Ocean and Pacific Ocean?

	 1.	 Quad Initiative
	 2.	 Ocus
	 3.	 Malabar military exercise 
	 4.	 Act East Policy
	 5.		 Indo-Pacific Economic Framework for 

Prosperity
		  Select the correct answer using the codes given 

below : 
	 (a)	 1, 2, 3 and 5 only	
	 (b)	 2 and 4 only
	 (c)	 1, 3 and 5
	 (d)	 1, 2, 3, 4 and 5
	 27.	 Consider the following pairs:
		  Country		  Important reason 	

			  to bein news 
					    recently
	 1.	 Sri Lanka	 —	 President resigns due 
					    to economic crisis
	 2.	 Afghanistan	 —	 Dasmesh father Guru 
					    Gobind Singh attacked 
					    Parwan by Guru
	 3.	 Nigeria	 —	 Discovery of high grade 
					    lithium
		  How many of the above pairs are correctly 

matched?		
	 (a)	 None of the pairs are matched 
	 (b)	 Only one pair
	 (c)		 Only two pairs
	 (d)	 All three pairs
	 28.	 Consider the following countries:
	 1.	 Afghanistan	 2.	 Uzbekistan
	 3.	 Kazakhstan	 4.	 Kyrgyzstan
	 5.	 Turkmenistan
		  Which of the above shares its borders with 

Tajikistan?		
	 (a)	 1, 2 and 4 only	 (b)	 1, 2, 3 and 5 only
	 (c)	 3, 4 and 5 only	 (d)	 1, 2, 3, 4 and 5
	 29.	 With reference to Pangong-Tso lake, consider the 

following statements:
	 1.	 Despite being a salt water lake, it freezes 

completely.
	 2.	 It is popular because of its ability to change 

color.
	 3.	 It is a transborder lake between Bhutan and 

India.
	 4.	 It is recognized as a Ramsar site.
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	 5-	 bl >hy dk nks frgkbZ fgLlk Hkkjr ds fu;a=k.k 
esa gSA 

	 	mi;ZqDr dFkuksa esa ls dkSu&ls lgh gSa\
	 (a)	 2 vkSj 4 	 (b)	3 vkSj 5 
	 (c)	 1] 3 vkSj 4 	 (d)	1 vkSj 2 

	30-	fuEufyf•r esa ls fdl lewg ds lHkh ik¡pksa ns'k 
yadkax&esdkax lg;ksx ds lnL; gSa\

	 (a)	 phu] dacksfM;k] eysf'k;k] fo;ruke] ykvksl 
	 (b)	 FkkbZySaM] dacksfM;k] eysf'k;k] fo;ruke] E;k¡ekj
	 (c)	 FkkbZySaM] dacksfM;k] ykvksl] fo;ruke] E;k¡ekj
	 (d)	 FkkbZySaM] phu] eysf'k;k] fo;ruke] E;k¡ekj

	 31-	Hkkjr&bZ;w O;kikj ds lanHkZ esa fuEufyf•r dFkuksa ij 
fopkj dhft;s%

	 1-	 orZeku esa ;wjksih; la?k Hkkjr dk nwljk lcls cM+k 
O;kikfjd Hkkxhnkj gSA 

	 2-	 ;wjksih; la?k Hkkjr fu;kZr ds fy;s lcls cM+k xarO; 
LFky gSA 

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa
	 (a)	 dsoy 1 	 (b)	dsoy 2 
	 (c)	 1 vkSj 2 nksuksa 	 (d)	u rks 1 vkSj u gh 2 

	 32-	fuEufyf•r ij fopkj dhft;s%
	 1-	 bfVª;e 	 2-	LdSafM;e 
	 3-	 bVjfc;e	 4-	lhfj;e 

	 	mi;ZqDr esa ls dkSu&ls nqyZHk •fut ds varxZr vkrs gSa\
	 (a)	 dsoy 1] 2 vkSj 3 	 (b)	dsoy 1 vkSj 3 
	 (c)	 dsoy 2 vkSj 4  	 (d)	1] 2] 3 vkSj 4

	 33-	S–400 felkby ç.kkyh ds lanHkZ esa fuEufyf•r dFkuksa 
ij fopkj dhft;s%

	 1-	 ;g lrg ls gok esa ekj djus okyh felkby 
ç.kkyh gSA 

	 2-	 ;g ç.kkyh 30 fdeh- rd dh Å¡pkbZ ij 400 
fdeh- dh lhek ds Hkhrj foeku] ;w,oh vkSj 
cSfyfLVd rFkk Øwt felkbyksa lfgr lHkh çdkj 
ds gokbZ y{;ksa dks fu'kkuk cuk ldrh gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa
	 (a)	 dsoy 1 	 (b)	dsoy 2 
	 (c)	 1 vkSj 2 nksuksa 	 (d)	u rks 1 vkSj u gh 2 

	34-	Hkkjr vkSj ekynho fuEufyf•r esa ls fdl lewg ds 
lnL; gSa\

	 1-	 nf{k.k ,f'k;kbZ {ks=kh; lg;ksx la?k
	 2-	 'ka?kkbZ lg;ksx laxBu
	 3-	 dksyacks lqj{kk lEesyu
	 4-	 nf{k.k ,f'k;k mi{ks=kh; vkfFkZd lg;ksx
	 5-	 cs vkWiQ caxky bfuf'k,fVo iQkWj eYVh&lsDVksjy 

VsfDudy ,aM bdksukWfed dks&vkWijs'ku 

	 5.	 Two-third of this lake is under the control of 
India.

		  Which of the statements given above are correct?
	 (a)	 2 and 4 	 (b)	 3 and 5 
	 (c)	 1, 3 and 4 	 (d)	 1 and 2 
	 30.	 All the five countries of which of the following 

groupings are members of the Lancang-Mekong 
Cooperation?

	 (a)	 China, Cambodia, Malaysia, Vietnam, Laos
	 (b)	 Thailand, Cambodia, Malaysia, Vietnam, 

Myanmar
	 (c)	 Thailand, Cambodia, Laos, Vietnam, 

Myanmar
	 (d)	 Thailand, China, Malaysia, Vietnam, 

Myanmar
	 31.	 With reference to India-EU trade, consider the 

following statements:
	 1.	 At present the European Union is the second 

largest trading partner of India.
	 2.	 European Union India is the largest destination 

for exports.
		  Which of the above statement(s) is/are correct
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1, nor 2
	 32.	 Consider the following:
	 1.	 Itrium	 2.	 Scandium
	 3.	 Ytterbium	 4.	 Cerium
		  Which of the above come under rare minerals?
	 (a)	 1, 2 and 3 only	 (b)	 1 and 3 only
	 (c)	 2 and 4 only	 (d)	 1, 2, 3 and 4
	 33.	 With reference to the S-400 missile system, 

consider the following statements:
	 1.	 It is a surface-to-air missile system.
	 2.	 This system is 30 km At an altitude of up to 

400 km It can target all types of air targets, 
including aircraft, UAVs and ballistic and 
cruise missiles within its range.

		  Which of the above statement(s) is/are correct		
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1, nor 2
	 34.	 India and Maldives are members of which of the 

following groups?
	 1.	 South Asian Association for Regional 

Cooperation
	 2.	 Shanghai Cooperation Organization
	 3.	 Colombo Security Conference
	 4.	 Sou th  As ia  Subreg iona l  Economic 

Cooperation
	 5.	 Bay of Bengal Initiative for Multi-Sectoral 

Technical and Economic Cooperation
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	 	uhps fn;s x, dwV dk ç;ksx dj lgh mÙkj pqfu;s%

	 (a)	 2 vkSj 4 	 (b)	3 vkSj 5 
	 (c)	 1] 3 vkSj 4 	 (d)	1 vkSj 5 

	35-	Hkkjr&vÚhdk fodkl lk>snkjh ij Hkkjrh; m|ksx ifjla?k 
,fDte cSad dkWUDyso (CII EBC) ds lanHkZ esa fuEufyf•r 
dFkuksa ij fopkj dhft;s%

	 1-	 bls fons'k ea=kky; vkSj okf.kT; rFkk m|ksx ea=kky; 
}kjk ykWUp fd;k x;k FkkA

	 2-	 bl lEesyu esa Hkkjr ljdkj dh ykbu vkWiQ ØsfMV 
ls ijs O;kolkf;d voljksa dh ryk'k esa daifu;ksa 
dks çksRlkfgr fd;k gSA

	 3-	 blus Hkkjrh; fu;kZrdksa dks vizQhdh ns'kksa rd igq¡pus 
ds fy;s çksRlkfgr fd;k gSA 

	 	mi;ZqDr dFkuksa esa ls dkSu&ls lgh gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	dsoy 1 vkSj 3
	 (c)	 dsoy 2 vkSj 3	 (d)	1] 2] vkSj 3 

	 36-	Lisl lLVsusfcfyVh ds lanHkZ esa fuEufyf•r dFkuksa ij 
fopkj dhft;s%

	 1-	 gky gh esa blds pkSFks f'k•j lEesyu dk vk;kstu 
isfjl] Úk¡l esa flD;ksj oYMZ iQkmaMs'ku ds lg;ksx 
ls fd;k x;kA 

	 2-	 ;g lEesyu varfj{k eycs ,oa vU; varfj{k 
vif'k"V dks çcaf/r ,oa de djds varfj{k ds 
lrr~ mi;ksx dks c<+kok nsus gsrq vk;ksftr fd;k 
x;kA 

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa

	 (a)	 dsoy 1 	 (b)	dsoy 2 
	 (c)	 1 vkSj 2 nksuksa 	 (d)	u rks 1 vkSj u gh 2 

	 37-	,U;wfj”e jksx ds lanHkZ esa fuEufyf•r dFkuksa ij fopkj 
dhft;s%

	 1-	 bl jksx esa lkekU;r% egk/euh] ?kqVuksa ds fiNys 
fgLls vkSj efLr"d] vk¡rksa dh /efu;ksa o ulksa esa 
lwtu vk tkrh gSA 

	 2-	 ;g jksx dksf'kdk fHkfÙk ds de”kksj gksus ds dkj.k 
gksrk gSA 

	 3-	 bl jksx esa dksbZ y{k.k çdV ugha gksrs gSaA 
	 4-	 iq#"kksa dh vis{kk efgyk,¡ bl jksx ls vf/d 

çHkkfor gksrh gSaA 

	 	mi;ZqDr dFkuksa esa ls dkSu&ls lgh gSa\

	 (a)	 dsoy 1 vkSj 4	
	 (b)	 1] 2 vkSj 3
	 (c)	 dsoy 2 vkSj 4
	 (d)	 dsoy 3

		  Select the correct answer using the codes given 
below : 

	 (a)	 2 and 4 	 (b)	 3 and 5 
	 (c)	 1, 3 and 4 	 (d)	 1 and 5 
	 35.	 With reference to the Confederation of Indian 

Industry Exim Bank Conclave (CII EBC) on India-
Africa Development Partnership, consider the 
following statements:

	 1.	 It was launched by the Ministry of External 
Affairs and Ministry of Commerce and 
Industry.

	 2.	 This conference encourages companies 
looking for business opportunities beyond the 
Line of Credit of the Government of India.

	 3.	 This has encouraged Indian exporters to reach 
African countries.

		  Which of the statements given above are correct?
	 (a)	 1 and 2 only	 (b)	 1 and 3 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3
	 36.	 With reference to space sustainability, consider the 

following statements:
	 1.	 Recently its fourth summit was organized in 

Paris, France in collaboration with Secure 
World Foundation.

	 2.	 This conference was organized to promote 
the sustainable use of space by managing and 
reducing space debris and other space waste.

		  Which of the above statement(s) is/are correct		
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1, nor 2
	 37.	 With reference to aneurysm disease, consider the 

following statements:
	 1.	 In this disease, there is usually swelling in the 

arteries and veins of the aorta, the back of the 
knees and the brain, intestines.

	 2.	 This disease occurs due to the weakening of 
the cell wall.

	 3.	 There are no symptoms in this disease.
	 4.	 Women are more affected by this disease than 

men.
		  Which of the statements given above are correct?
	 (a)	 1 and 4 only	
	 (b)	 1, 2 and 3
	 (c)	 2 and 4 only
	 (d)	 3 only
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	 38-	xhxkes'k (Giga Mesh) ds lanHkZ esa fuEufyf•r dFkuksa 
ij fopkj dhft;s%

	 1-	 bls ,LVªkse }kjk fodflr fd;k x;k gSA
	 2-	 ;g xzkeh.k 4th cqfu;knh <k¡ps esa HkhM+HkkM+ dh 

pqukSfr;ksa dks lacksf/r djsxk vkSj mPp rduhd 
,oa lLrh baVjusV dusfDVfoVh çnku djsxkA

	 3-	 ;g fo'o dk igyk eYVh&che bZ&cSaM jsfM;ks gSA 

	 	mi;ZqDr dFkuksa esa ls dkSu&ls lgh gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	dsoy 1 vkSj 3
	 (c)	 dsoy 2 vkSj 3	 (d)	1] 2 vkSj 3 

	39-	;wjksih; ijek.kq vuqla/ku laxBu (CERN) ds lanHkZ esa 
fuEufyf•r dFkuksa ij fopkj dhft;s%

	 1-	 luZ yktZ gSMªkWu dksykbMj dk lapkyu djrk gS 
vkSj ;g Úk¡l&fLoV~”kjySaM lhek ij fLFkr gSA

	 2-	 yktZ gSMªkWu dksykbMj us xkWM ikfVZdy dgs tkus 
okys fgXl ckslksu dh •kst dhA

	 3-	 fgXl ckslksu dh Hkfo";ok.kh igyh ckj ihVj fgXl 
us dh FkhA 

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 	 (b)	dsoy 1 vkSj 2 
	 (c)	 dsoy 2 vkSj 3	 (d)	1] 2 vkSj 3 

	 40-	Mp fMtht@jksx ds lanHkZ esa fuEufyf•r dFkuksa ij 
fopkj dhft;s%

	 1-	 ;g ,d fof'k"V  {ks=k ds vkfFkZd fodkl esa o`f¼ 
vkSj vU; {ks=kksa esa fxjkoV ds chp ,d Li"V laca/ 
dks n'kkZrk gSA 

	 2-	 fofuekZ.k ukSdfj;k¡ de ykxr okys ns'kksa esa LFkkukarfjr 
gksus ls yacs le; esa ;s dkjd csjks”kxkjh dks c<+k 
ldrs gSaA 

	 3-	 ;g fu;kZr dks çksRlkfgr djrs gq, vU; {ks=kksa ls 
vk;kr dh dher çfrLi¼kZRedrk dks de djrk gSA 

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 3 	 (b)	1 vkSj 3 
	 (c)	 1 vkSj 2 	 (d)	2 vkSj 3 

	 41-	ojksvk ekbV ds lanHkZ esa fuEufyf•r dFkuksa ij fopkj 
dhft;s %

	 1-	 ;g ,d ijthoh dhV gS tks e/qefD•;ksa dks 
laØfer djrk gS vkSj •krk gSA

	 2-	 ojksvk ekbV dsoy o;Ld e/qefD•;ksa dk gh 
Hkkstu dj ldrs gSa vkSj thfor jg ldrs gSaA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 	 (b)	dsoy 2 
	 (c)	 1 vkSj 2 nksuksa 	 (d)	u rks 1 vkSj u gh 2 

	 38.	 With reference to GigaMesh, consider the 
following statements:

	 1.	 It is developed by Astrom.
	 2.	 It will address the challenges of overcrowding 

in rural 4G infrastructure and provide high-
tech and affordable Internet connectivity.

	 3.	 It is the world's first multi-beam E-band radio.
		  Which of the statements given above are correct?
	 (a)	 1 and 2 only	 (b)	 1 and 3 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3
	 39.	 With reference to the European Organization for 

Nuclear Research (CERN), consider the following 
statements:

	 1.	 CERN operates the Large Hadron Collider and 
is located on the France-Switzerland border.

	 2.	 The Large Hadron Collider discovered the 
Higgs boson, called the God particle.

	 3.	 The Higgs boson was first predicted by Peter 
Higgs.

		  Which of the statement(s) given above is/are 
correct? 

	 (a)	 1 only	 (b)	 1 and 2 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3 
	 40.	 With reference to Dutch disease, consider the 

following statements:
	 1.	 It shows a clear correlation between an 

increase in the economic growth of a specific 
region and a decline in other sectors.

	 2.	 These factors can increase unemployment in 
the long run as manufacturing jobs move to 
low-cost countries.

	 3.	 It reduces the price competitiveness of imports 
from other sectors while encouraging exports.

		  Which of the statement(s) given above is/are 
correct? 

	 (a)	 3 only 	 (b)	 1 and 3 
	 (c)	 1 and 2 	 (d)	 2 and 3 
	 41.	 With reference to Varroa mite, consider the 

following statements:
	 1.	 It is a parasitic insect that infects and eats bees.
	 2.	 Varroa mites can only feed on adult bees and 

survive.
		  Which of the statement(s) given above is/are 

correct? 
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1, nor 2
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	 42-	PSLV d{kh; çk;ksfxd ekWMÔwy (POEM) ds lanHkZ esa 
fuEufyf•r ij fopkj dhft;s%

	 1-	 ;g bljks dk ,d ç;ksxkRed fe'ku gS tks bu&vkWfcZV 
oSKkfud ç;ksxksa dk çn'kZu djrk gSA

	 2-	 blesa ǹf"Vdks.k fLFkjhdj.k gsrq ,d lefiZr usfoxs'ku 
ekxZn'kZu vkSj fu;a=k.k ç.kkyh gSA

	 3-	 ;g dsoy fyfFk;e vk;u cSVjh ls gh ÅtkZ çkIr 
djsxkA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 2 	 (b)	1 vkSj 2 
	 (c)	 1 vkSj 3	 (d)	2 vkSj 3 

	 43-	frgku (TiHAN) ds lanHkZ esa fuEufyf•r dFkuksa ij 
fopkj dhft;s%

	 1-	 Hkkjrh; çkS|ksfxdh laLFkku dkuiqj ds ifjlj esa 
Hkkjr ds igys Lok;Ùk usfoxs'ku lqfo/k dk mn~?kkVu 
fd;k x;kA 

	 2-	 bldk mn~ns'; Hkkjr dks Hkfo"; vkSj vxyh ih<+h 
dh LekVZ eksfcfyVh rduhd esa ,d oSf'od fnXxt 
ds :i esa LFkkfir djuk gSA 

	 3-	 ;g i`Foh foKku ea=kky; dh ,d cgqfo"k;d 
igy gSA 

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 2 	 (b)	dsoy 1 
	 (c)	 1 vkSj 3 	 (d)	2 vkSj 3 

	44-	fuEufyf•r dFkuksa ij fopkj dhft;s%

	 1-	 Mhi lh ekbfuax egklkxj esa yxHkx 200 ehVj 
dh xgjkbZ ls •fut tek çkIr djus ;k mR•uu 
dh çfØ;k dh lanfHkZr djrk gSA 

	 2-	 Mhi lh ekbfuax leqæh tSo fofo/rk vkSj ikfjfLFkfrdh 
ra=k dks uqdlku igq¡pk ldrk gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 	 (b)	dsoy 2 
	 (c)	 1 vkSj 2 nksuksa 	 (d)	u rks 1 vkSj u gh 2 

	45-	xzhuokWf'kax ds lanHkZ esa fuEufyf•r dFkuksa ij fopkj 
dhft;s%

	 1-	 ;g fdlh laxBu dks i;kZoj.k ds vuqdwy fn•kus 
ds fy;s foKkiu ij vf/d le; vkSj iSlk •pZ 
djrk gSA 

	 2-	 ;g miHkksDrkvksa dks xqejkg djus ds fy;s ,d 
diViw.kZ ekdZsfVax pky gksrh gSA 

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 	 (b)	dsoy 2 
	 (c)	 1 vkSj 2 nksuksa 	 (d)	u rks 1 vkSj u gh 2 

	 42.	 With reference to PSLV Orbital Experimental 
Module (POEM), consider the following:

	 1.	 It is an experimental mission of ISRO to 
perform in-orbit scientific experiments.

	 2.	 It has a dedicated navigation guidance and 
control system for approach stabilization.

	 3.	 It will only draw energy from a lithium-ion 
battery.

		  Which of the statement(s) given above is/are 
correct? 

	 (a)	 2 only	 (b)	 1 and 2 
	 (c)	 1 and 3	 (d)	 2 and 3 
	 43.	 With reference to TiHAN, consider the following 

statements:
	 1.	 India's first autonomous navigation facility 

was inaugurated on the campus of Indian 
Institute of Technology Kanpur.

	 2.	 It aims to establish India as a global leader 
in future and next generation smart mobility 
technology.

	 3.	 It is a multidisciplinary initiative of the 
Ministry of Earth Sciences.

		  Which of the statement(s) given above is/are 
correct? 

	 (a)	 2 only	 (b)	 1 only
	 (c)	 1 and 3 	 (d)	 2 and 3 
	 44.	 Consider the following statements:
	 1.	 Deep sea mining refers to the process of 

obtaining or excavating mineral deposits in 
the ocean from a depth of about 200 meters.

	 2.	 Deep sea mining can harm marine biodiversity 
and ecosystems.

		  Which of the statement(s) given above is/are 
correct?		

	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1, nor 2
	 45.	 With reference to greenwashing, consider the 

following statements:
	 1.	 It spends more time and money on advertising 

to make an organization appear eco-friendly.
	 2.	 This is a fraudulent marketing ploy to mislead 

the consumers.
		  Which of the statement(s) given above is/are 

correct? 
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1, nor 2
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	46-	vkstksu {kj.k ds fu;a=k.k gsrq varjkZ"Vªh; ç;klksa esa 
fuEufyf•r esa ls dkSu&ls 'kkfey gSa\

	 1-	 fo;uk vfHkle;
	 2-	 D;ksVks çksVksdkWy 
	 3-	 ekWfUVª;y çksVksdkWy 
	 4-	 fdxkyh le>kSrk 
	 5-	 ukxks;k çksVksdkWy 

	 	uhps fn;s x, dwV dk ç;ksx dj lgh mÙkj pqfu;s%

	 (a)	 dsoy 1] 3 vkSj 4 	 (b)	dsoy 2] 3 vkSj 5
	 (c)	 dsoy 3] 4 vkSj 5 	 (d)	1] 2] 3] 4 vkSj 5

	 47- 	m".kdfVca/h; {ks=k esa vkstksu fNæ ds dkj.kksa esa 
fuEufyf•r esa ls dkSu&ls 'kkfey gSa\

	 1-	 dkWfLed fdj.ksa 
	 2-	 DyksjksÝyksjksdkcZu
	 3-	 m".kdfVca/h; lerki eaMy esa de rkieku 

	 	uhps fn;s x, dwV dk ç;ksx dj lgh mÙkj pqfu;s%

	 (a)	 dsoy 1 vkSj 2	 (b)	dsoy 1 vkSj 3
	 (c)	 dsoy 2 vkSj 3	 (d)	1] 2] vkSj 3 

	48-	ou laj{k.k fu;e&2022 ds lanHkZ esa fuEufyf•r dFkuksa 
ij fopkj dhft;s%

	 1-	 bUgsa i;kZoj.k laj{k.k vf/fu;e 1986 ds rgr 
vf/lwfpr fd;k x;k gSA 

	 2-	 bu fu;eksa ds rgr fuxjkuh mn~ns';ksa esa ,d lykgdkj 
lfefr] jkT; ;k dsaæ'kkflr çns'k esa ,d LØhfuax 
desVh vkSj ,d {ks=kh; vf/dkj çkIr lfefr dk 
xBu fd;k tk,xkA 

	 3-	 ;s fu;e çR;sd ifj;kstuk dh 'kh?kzrk ls leh{kk 
djus ds fy;s ,d fuf'pr le; çnku djsaxsA 

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 	 (b)	2 vkSj 3  
	 (c)	 1 vkSj 3 	 (d)	1 vkSj 2  

	 49-	eksukdZ frrfy;ksa ds lanHkZ esa fuEufyf•r dFkuksa ij 
fopkj dhft;s%

	 1-	 ;s vko';d ijkx.kdrkZ gSa vkSj fofHkUu ikfjfLFkfrdh 
ra=k lsok,¡ çnku djrh gSaA

	 2-	 ;s dsoy feYdohM ds ikS/s esa çtuu djrh gSaA
	 3-	 ;s dsoy Hkkjrh; miegk}hi esa ikbZ tkrh gSaA
	 4-	 vkbZ;wlh,u }kjk tkjh jsM fyLV esa bUgsa vfrladVkiUu 

Js.kh esa j•k x;k gSA 

	 	mi;ZqDr dFkuksa esa ls dkSu&ls lgh gSa\

	 (a)	 1 vkSj 2  	 (b)	2 vkSj 3  
	 (c)	 1 vkSj 3 	 (d)	1 vkSj 4  

	 46.	 Which of the following are included in international 
efforts to control ozone depletion?

	 1.	 Vienna Convention
	 2.	 Kyoto Protocol
	 3.	 Montreal Protocol
	 4.	 Kigali Agreement
	 5.	 Nagoya Protocol
		  Select the correct answer using the codes given 

below : 
	 (a)	 1, 3 and 4 only	 (b)	 2, 3 and 5 only
	 (c)	 3, 4 and 5 only	 (d)	 1, 2, 3, 4 and 5
	 47.	 Which of the following are included in the causes 

of ozone hole in the tropics?
	 1.	 Cosmic ray
	 2.	 Chlorofluorocarbons
	 3.	 Low temperatures in the tropical stratosphere
		  Select the correct answer using the codes given 

below : 
	 (a)	 1 and 2 only	 (b)	 1 and 3 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3
	 48.	 With reference to the Forest Conservation Rules 

2022, consider the following statements:
	 1.	 These have been notif ied under the 

Environment Protection Act 1986.
	 2.	 An advisory committee, a screening 

committee in the state or union territory and 
a regional empowered committee will be 
constituted for monitoring purposes under 
these rule.

	 3.	 These rules will provide a fixed time for each 
project to be reviewed expeditiously.

		  Which of the statement(s) given above is/are 
correct? 

	 (a)	 1 only	 (b)	 2 and 3  
	 (c)	 1 and 3 	 (d)	 1 and 2  
	 49.	 With reference to monarch butterflies, consider the 

following statements:
	 1.	 These are essential pollinators and provide 

various ecosystem services.
	 2.	 They reproduce only in milkweed plants.
	 3.	 They are found only in the Indian subcontinent.
	 4.	 In the Red List issued by the IUCN, They have 

been placed in the most vulnerable category.
		  Which of the statements given above are correct?
	 (a)	 1 and 2  	 (b)	 2 and 3  
	 (c)	 1 and 3 	 (d)	 1 and 4  
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	50-	uSjksch efD•;ksa ds lanHkZ esa fuEufyf•r dFkuksa ij fopkj 

dhft;s%

	 1-	 ;s if'pe vÚhdk dh LFkkfud dhV dh çtkfr 

gSA

	 2-	 ;s dhV ijs'kku gksus ij isMfju uked inkFkZ dks 

NksM+rs gSa] ijarq dkVrs ugha gSaA

	 3-	 ;s mPp o"kkZ okys {ks=kksa esa iuirs gSaA

	 	mi;ZqDr dFkuksa esa ls dkSu&ls lgh gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	dsoy 1 vkSj 3
	 (c)	 dsoy 2 vkSj 3	 (d)	1] 2 vkSj 3 

	 51-	diklh o"kkZ es?k ds lanHkZ esa fuEufyf•r dFkuksa ij 

fopkj dhft;s%

	 1-	 bgsa e'k:e ds vkdkj ds dkj.k FkaMjgsM~l ds :i 

esa tkuk tkrk gSA 

	 2-	 diklh o"kkZ es?kksa ds cuus ds fy;s xeZ ,oa vkæZ 

ifjfLFkfr;ksa dh vko';drk gksrh gSA 

	 3-	 ;g es?k vDlj vius dsaæ esa fo|qr mRiUu djrs gSaA 

	 	mi;ZqDr dFkuksa esa ls dkSu&ls lgh gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	dsoy 1 vkSj 3
	 (c)	 dsoy 2 vkSj 3	 (d)	1] 2 vkSj 3 

	 52-	gSMyh lsy ds lanHkZ esa fuEufyf•r dFkuksa ij fopkj 

dhft;s%

	 1-	 ;g ,d fuEu&v{kka'kh; O;qRØe ifjlapj.k gSA 

	 2-	 30° v{kka'k ij ok;q Åij dh vksj mBrh gS vkSj 

Hkweè; js•k ij uhps mrjrh gSA 

	 3-	 ;g /zqoksa rd foLrkfjr gks ldrh gSA 

	 	mi;ZqDr dFkuksa esa ls dkSu&ls lgh gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	dsoy 1 vkSj 3
	 (c)	 dsoy 2 vkSj 3	 (d)	1] 2 vkSj 3 

	 53-	dkjkdksje folaxfr ds lanHkZ esa fuEufyf•r dFkuksa ij 

fopkj dhft;s%

	 1-	 ;g eè; dkjkdksje esa fgeunksa ds fLFkj jgus ;k 

muesa vlkekU; o`f¼ dh fLFkfr gSA 

	 2-	 if'peh foNksHk dk iqu% lfØ; gksuk] bl folaxfr 

dks mRiUu vkSj cuk, j•us esa lgk;d jgk gSA 

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 	
	 (b)	 dsoy 2 
	 (c)	 1 vkSj 2 nksuksa 
	 (d)	 u rks 1 vkSj u gh 2 

	 50.	 With reference to the Nairobi flies, consider the 
following statements:

	 1.	 These are species of insect endemic to West 
Africa.

	 2.	 These insects release a substance called pedrin 
when disturbed, but do not bite.

	 3.	 They thrive in areas of high rainfall.
		  Which of the statements given above are correct?
	 (a)	 1 and 2 only	 (b)	 1 and 3 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3
	 51.	 With reference to the cotton rain cloud, consider 

the following statements:
	 1.	 They are known as thunderheads because of 

their mushroom shape.
	 2.	 Hot and humid conditions are required for the 

formation of cotton rain clouds.
	 3.	 These clouds often generate electricity at their 

centre.
		  Which of the statements given above are correct?
	 (a)	 1 and 2 only	 (b)	 1 and 3 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3
	 52.	 With reference to Hadley cell, consider the 

following statements:
	 1.	 This is a low-latitude inverse circulation.
	 2.	 Air rises up at 30° latitude and descends at 

the equator.
	 3.	 It may extend to the poles.
		  Which of the statements given above are correct?
	 (a)	 1 and 2 only	 (b)	 1 and 3 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3 
	 53.	 With reference to the Karakoram anomaly, consider 

the following statements:
	 1.	 This is a condition of stagnant or abnormal 

growth of glaciers in the central Karakoram.
	 2.	 The reactivation of the Western Disturbance 

has been instrumental in generating and 
maintaining this anomaly.

		  Which of the statement(s) given above is/are 
correct? 

	 (a)	 1 only	
	 (b)	 2 only
	 (c)	 Both 1 and 2
	 (d)	 Neither 1, nor 2
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	 54-	rVh; {kj.k ds çkÑfrd dkj.kksa ds varxZr fuEufyf•r 

esa ls dkSu&ls dkj.k 'kkfey fd;s tkrs gSa\

	 1-	 oso czsfdax dh fØ;k 	  
	 2-	 ladqpu 

	 3-	 leqæh rVksa ls jsr gVkuk 	
	 4-	 xaHkhj pØokrh rwiQku 

	 5-	 Tokjh; rjax 

	 6-	 buysV pSuy dk fu"d"kZ.k 

	 	uhps fn;s x, dwV dk ç;ksx dj lgh mÙkj pqfu;s%

	 (a)	 dsoy 1] 3 vkSj 4
	 (b)	 dsoy 1] 2] 4 vkSj 5 
	 (c)	 dsoy 2] 3] 5 vkSj 6
	 (d)	 1] 2] 4] 5 vkSj 6

	 55-	dsxZq,yu gkWVLikWV fuEufyf•r esa ls fdl egklkxj esa 

vofLFkr gS\

	 (a)	 vVykafVd egklkxj 

	 (b)	 ç'kkar egklkxj 

	 (c)	 nf{k.kh fgan egklkxj

	 (d)	 mÙkjh ç'kkar egklkxj 

	 56-	Lusd vkbySaM ds lanHkZ esa uhps fn;s x, dFkuksa esa ls 

dkSu&lk@ls dFku lgh gS@gSa\

	 1-	 ;g pêðku dk ,d NksVk lk VqdM+k gS (700 ehVj 
ls de vkdkj dh)A

	 2-	 ;g Hkweè; lkxj esa fLFkr gSA

	 3-	 bls ”kfefU; }hi Hkh dgk tkrk gSA

	 	uhps fn;s x, dwV dk ç;ksx dj lgh mÙkj pqfu;s%

	 (a)	 dsoy 1	 (b)	dsoy 1 vkSj 3
	 (c)	 dsoy 2 vkSj 3	 (d)	1] 2 vkSj 3 

	 57-	fuEufyf•r ;qXeksa ij fopkj dhft;s%

			  tyMe:eè; 		 lkxj 

	 1-	 cksLiQksjl 	 —	 dkyk lkxj vkSj ejejk lkxj 

	 2-	 MkMkZusYl	 —	 dkyk lkxj vkSj ,ft;u lkxj 

	 3-	 dspZ 	 —	 vktkso lkxj vkSj dkyk lkxj  

	 	mi;ZqDr ;qXeksa esa ls fdrus ;qXe lgh lqesfyr gSa\

	 (a)	 dksbZ Hkh ;qXe ugha 	
	 (b)	 dsoy ,d ;qXe 

	 (c)	 dsoy nks ;qXe 

	 (d)	 lHkh rhuksa ;qXe 

	 58-	Msjspks ds lanHkZ esa fuEufyf•r dFkuksa ij fopkj dhft;s%

	 1-	 Msjspks ,d BaMs ekSle dh ?kVuk gSA

	 2-	 ;g ,d lh/h js•k esa pyus okyk rwiQku gSA

	 54.	 Which of the following are included in the natural 
causes of coastal erosion?

	 1.	 Wave breaking action		
	 2.	 Contraction
	 3.	 Sand removal from beaches
	 4.	 Severe Cyclonic Storm
	 5.	 Tidal Wave		
	 6.	 Extraction of inlet channel
		  Select the correct answer using the codes given 

below : 
	 (a)	 1, 3 and 4 only
	 (b)	 1, 2, 4 and 5 only
	 (c)	 2, 3, 5 and 6 only
	 (d)	 1, 2, 4, 5 and 6
	 55.	 In which of the following oceans is the Kerguelen 

Hotspot located?
	 (a)	 Atlantic Ocean
	 (b)	 Pacific Ocean
	 (c)	 Southern Indian Ocean
	 (d)	 North Pacific Ocean
	 56.	 With reference to Snake Island, which of the 

following statement(s) is/are correct?
	 1.	 It is a small piece of rock (less than 700 meters 

in size).
	 2.	 It is located in the Mediterranean Sea.
	 3.	 It is also known as Zaminyi Island.
		  Select the correct answer using the codes given 

below : 
	 (a)	 1 only	 (b)	 1 and 3 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3
	 57.	 Consider the following pairs:
	 	 Strait		  Sea
	 1.	 Bosphorus	 —	 Black Sea and Marmara 
					    Sea
	 2.	 Dardanelles	 —	 Black Sea and Aegean 	

			  Sea
	 3.	 Kerch	 —	 Azov Sea and Black Sea
		  How many of the above pairs are correctly 

matched?
	 (a)	 None of the pairs are matched
	 (b)	 Only one pair
	 (c)	 Only two pairs
	 (d)	 All three pairs
	 58.	 With reference to the derecho, consider the 

following statements:
	 1.	 Derecho is a cold weather phenomenon.
	 2.	 It is a straight line storm.
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	 3-	 rhoz rwiQku ds ifj.kkeLo:i vkleku dk jax gjk 

gks tkrk gS] D;ksafd çdk'k rwiQku ds ty dh Hkkjh 

ek=kk ds lkFk var% fØ;k djrk gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 2 	 (b)	dsoy 1 
	 (c)	 1 vkSj 3 	 (d)	2 vkSj 3 

	59-	tokgjyky usg: canjxkg ds lanHkZ esa fuEufyf•r dFkuksa 

ij fopkj dhft;s%

	 1.	 ;g ns'k dk igyk 'kr&çfr'kr ySaMykWMZ ekWMy 

okyk çeq• canjxkg gSA 

	 2.	 ;g uoh eqacbZ esa fLFkr gSA 

	 3.	 bls o"kZ 1989 esa vf/Ñr fd;k x;k FkkA 

	 	mi;ZqDr dFkuksa esa ls dkSu&ls lgh gSa\

	 (a)	 dsoy 1 vkSj 2
	 (b)	 dsoy 1 vkSj 3
	 (c)	 dsoy 2 vkSj 3
	 (d)	 1] 2 vkSj 3 

	 60-	fo'o tula[;k laHkkouk&2022 ds lanHkZ esa fuEufyf•r 

dFkuksa ij fopkj dhft;s%

	 1.	 bls oYMZ bdksukWfed iQksje us çdkf'kr fd;k gSA

	 2.	 fjiksVZ ds vuqlkj 2023 rd Hkkjr tula[;k ds 

ekeys esa phu ls vkxs fudy tk,xkA

	 3.	 Hkkjr us çfrLFkkiu çtuu nj çkIr dj yh gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 2 vkSj 3 	 (b)	dsoy 1 
	 (c)	 1 vkSj 3 	 (d)	dsoy 2 

	61-	fe'ku okRlY; ds laca/ esa gky gh esa tkjh fn'kk&funZs'kksa 

ds lanHkZ esa fuEufyf•r dFkuksa ij fopkj dhft;s%

	 1-	 dsaæ ljdkj }kjk nh xbZ /ujkf'k rd igq¡p çkIr 

djus ds fy;s jkT; bl ;kstuk dk ewy uke cny 

ldrs gSaA

	 2-	 bls jkT; ljdkjksa vkSj dsaæ'kkflr çns'kksa ds ç'kklu 

ds lkFk lk>snkjh esa dsaæ çk;ksftr ;kstuk ds :i 

esa ykxw fd;k tk,xkA

	 3-	 ;g jkT; nÙkd xzg.k lalk/u ,tsafl;ksa dk leFkZu 

djsxk] tks vkxs dsaæh; nÙkd xzg.k lalk/u çkf/dj.k 

dk leFkZu djsxkA

	 	mi;ZqDr dFkuksa esa ls dkSu&ls lgh gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	dsoy 1 vkSj 3
	 (c)	 dsoy 2 vkSj 3	 (d)	1] 2] vkSj 3 

	 3.	 The sky turns green as a result of intense 
storms, as the light interacts with the massive 
amounts of storm water.

		  Which of the statement(s) given above is/are 
correct? 

	 (a)	 2 only	 (b)	 1 only
	 (c)	 1 and 3 	 (d)	 2 and 3 
	 59.	 With reference to Jawaharlal Nehru Port, consider 

the following statements:
	 1.	 It is the country's first major port with 100% 

Landlord model.
	 2.	 It is located in Navi Mumbai.
	 3.	 It was authorized in the year 1989.

		  Which of the statements given above are correct?
	 (a)	 1 and 2 only
	 (b)	 1 and 3 only
	 (c)	 2 and 3 only
	 (d)	 1, 2 and 3 
	 60.	 With reference to World Population Prospect–2022, 

consider the following statements:
	 1.	 It is published by the World Economic Forum.
	 2.	 According to the report, India will overtake 

China in terms of population by 2023.
	 3.	 India has achieved replacement fertility rate.
		  Which of the statement(s) given above is/are 

correct? 
	 (a)	 2 and 3 	 (b)	 1 only
	 (c)	 1 and 3 	 (d)	 2 only
	 61.	 With reference to the recently issued guidelines 

regarding Mission Vatsalya, consider the following 
statements:

	 1.	 States can change the original name of the 
scheme to gain access to the funds given by 
the central government.

	 2.	 It will be implemented as a centrally 
sponsored scheme in partnership with the 
State Governments and Union Territory 
Administrations.

	 3.	 It will support the State Adoption Resource 
Agencies, which will further support the 
Central Adoption Resource Authority.

		  Which of the statements given above are correct?
	 (a)	 1 and 2 only	 (b)	 1 and 3 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3
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	 62-	^ukjh dks ueu* ;kstuk ds lanHkZ esa fuEufyf•r dFkuksa 
ij fopkj dhft;s%

	 1-	 ;g ;kstuk gfj;k.kk ljdkj }kjk 'kq: dh xbZ gSA 
	 2-	 bl ;kstuk ds rgr efgykvksa dks jkT; ljdkj dh 

clksa esa fVdV dh dherksa esa 50 çfr'kr dh NwV 
nh tk,xhA 

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 	 (b)	dsoy 2 
	 (c)	 1 vkSj 2 nksuksa 	 (d)	u rks 1 vkSj u gh 2 

	 63-	^ueLrs Ldhe* ds lanHkZ esa fuEufyf•r dFkuksa ij fopkj 
dhft;s%

	 1.	 ;g ;kstuk lkekftd U;k; ,oa vf/dkfjrk ea=kky; 
vkSj xzkeh.k fodkl ea=kky; dk ,d la;qDr m|e gSA 

	 2.	 bldk mn~ns'; Hkkjr esa LoPNrk çfØ;k esa 'kwU; 
e`R;q fLFkfr] liQkbZ dfeZ;ksa dh ekuo ey ls lh/s 
laidZ ls lqj{kk vkSj lhoj lsfIVd VSad ds liQkbZ 
dfeZ;ksa dh vkthfodk ds oSdfYid lzksr rd igq¡p 
lqfuf'pr djuk gSA 

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 	 (b)	dsoy 2 
	 (c)	 1 vkSj 2 nksuksa 	 (d)	u rks 1 vkSj u gh 2 

	64-	flXuy Ldwy ds lanHkZ esa fuEufyf•r dFkuksa ij fopkj 
dhft;s%

	 1.	 gky gh esa vgenkckn uxj fuxe }kjk bl ifj;kstuk 
dh 'kq#vkr dh xbZA 

	 2.	 bl ;kstuk ds varxZr Hkh• ekax jgs vkSj chp esa 
Ldwy NksM+ pqds cPpksa dks f'k{kk dh lqfo/k çnku 
djuk gSA

	 3.	 Hkkjr dk igyk flXuy Ldwy Bk.ks (egkjk"Vª) 
esa gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&ls lgh gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	dsoy 1 vkSj 3
	 (c)	 dsoy 2 vkSj 3	 (d)	1] 2 vkSj 3 

	65-	jk"Vªh; efgyk vk;ksx ds lanHkZ esa fuEufyf•r dFkuksa 
ij fopkj dhft;s%

	 1.	 bldk xBu 1992 esa fd;k x;k FkkA 
	 2.	 ;g ,d laoS/kfud fudk; gSA 
	 3.	 gky gh esa vk;ksx }kjk ukxkySaM esa uhiq dhFksy ;k 

bZek ekdZsV uke ,d fnolh; çf'k{k.k dk;ZØe 
dk vk;kstu fd;k x;kA 

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 2 vkSj 3 	 (b)	dsoy 1 
	 (c)	 1 vkSj 3 	 (d)	dsoy 2 

	 62.	 With reference to the scheme 'Namaan to women', 
consider the following statements:

	 1.	 This scheme has been started by Haryana 
Government.

	 2.	 Under this scheme, women will be given 
50 percent discount on ticket prices in state 
government buses.

		  Which of the statement(s) given above is/are 
correct? 

	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1, nor 2
	 63.	 With reference to the 'Namaste Scheme', consider 

the following statements:
	 1.	 The scheme is a joint venture of the Ministry 

of Social Justice and Empowerment and the 
Ministry of Rural Development.

	 2.	 It aims to ensure zero mortality in the 
sanitation process in India, protection of 
scavengers from direct contact with human 
excreta and access to alternative sources of 
livelihood for sewer septic tank scavengers.

		  Which of the statement(s) given above is/are 
correct? 

	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1, nor 2
	 64.	 With reference to Signal School, consider the 

following statements:
	 1.	 Recently this project was started by 

Ahmedabad Municipal Corporation.
	 2.	 Under this scheme, education facility is to be 

provided to the children who are begging and 
drop out of school.

	 3.	 India’s first signal school is in Thane 
(Maharashtra).

		  Which of the statements given above are correct?
	 (a)	 1 and 2 only	 (b)	 1 and 3 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3
	 65.	 With reference to the National Commission for 

Women, consider the following statements:
	 1.	 It was formed in 1992.
	 2.	 It is a constitutional body.
	 3.	 Recently a one day training program named 

Nipu Keithel or Ima Market was organized 
by the Commission in Nagaland.

		  Which of the statement(s) given above is/are 
correct? 

	 (a)	 2 and 3 	 (b)	 1 only
	 (c)	 1 and 3 	 (d)	 2 only
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	66-	vkjih,iQ ds lanHkZ esa fuEufyf•r dFkuksa ij fopkj 
dhft;s%

	 1.	 ;g Hkkjrh; la?k dk ,d l'kL=k cy gSA 
	 2.	 ;g x`g ea=kky; ds varxZr vkrk gSA 
	 3.	 gky gh esa blus vkWijs'ku ukØksl 'kq: fd;k gSA 

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 2 vkSj 3 	 (b)	dsoy 1 
	 (c)	 1 vkSj 3 	 (d)	dsoy 2 

	67-	vkpk;Z çiQqYy paæ jk; ds lanHkZ esa fuEufyf•r dFkuksa 
ij fopkj dhft;s %

	 1.	 Hkkjrh; jlk;u foKku ds tud ds :i esa tkuk 
tkrk gSA

	 2.	 mUgksaus fLFkj ;kSfxd eD;Zwjl ukbVªkbV dh •kst 
dhA

	 3.	 mUgksaus 1901 esa caxky dsfedy ,aM iQkekZL;qfVdy 
oDlZ dh LFkkiuk dhA

	 	mi;ZqDr dFkuksa esa ls dkSu&ls lgh gSa\
	 (a)	 dsoy 1 vkSj 2	 (b)	dsoy 1 vkSj 3
	 (c)	 dsoy 2 vkSj 3	 (d)	1] 2 vkSj 3 

	 68-	ikbFkkxksjl ds lanHkZ esa fuEufyf•r dFkuksa ij fopkj 
dhft;s%

	 1-	 ,d Úk¡lhlh nk'kZfud FksA
	 2-	 mudk çes; xf.kr ls lacaf/r FkkA
	 3-	 bUgksaus bVyh esa xqIr lekt dh LFkkiuk dhA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 2 vkSj 3 	 (b)	dsoy 2 
	 (c)	 1 vkSj 3 	 (d)	dsoy 3 

	69-	vYywjh lhrkjke jktw ds lanHkZ esa fuEufyf•r dFkuksa 
ij fopkj dhft;s%

	 1-	 o"kZ 1922 ds jEik foæksg@eU;e foæksg esa ,d usrk 
ds :i esa çeq• Hkwfedk fuHkkbZA

	 2-	 bUgksaus bl ckr ij ”kksj fn;k fd Hkkjr dsoy cy 
ds ç;ksx ls gh vk”kkn gks ldrk gS] vfgalk ls 
ughaA

	 3-	 LFkkuh; xzkeh.kksa }kjk buds ohjrkiw.kZ dkjukeksa ds 
fy;s bUgsa eU;e oh#Mq miuke fn;k x;k FkkA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy  2	 (b)	dsoy 1 vkSj 3
	 (c)	 dsoy 2 vkSj 3	 (d)	1] 2] vkSj 3 

	70-	fuEufyf•r ;qXeksa ij fopkj dhft;s%
	 	 ekS;Z LraHk 		   fLFkr 
	 1.	 ykSfj;k&uanu LraHk	 — x;k (fcgkj) 
	 2.	 v'kksd LraHk 	 — lkaph (eè; çns'k)
	 3.	 v'kksd dk flag 'kh"kZ 	 — lkjukFk (mÙkj çns'k)

	 66.	 With reference to RPF, consider the following 
statements:

	 1.	 It is an armed force of the Indian Union.
	 2.	 It comes under the Ministry of Home Affairs.
	 3.	 Recently it has started Operation Nacros.
		  Which of the statement(s) given above is/are 

correct? 
	 (a)	 2 and 3 	 (b)	 1 only 
	 (c)	 1 and 3 	 (d)	 2 only 
	 67.	 With reference to Acharya Prafulla Chandra Rai, 

consider the following statements:
	 1.	 Known as the father of Indian chemistry.
	 2.	 He discovered the stable compound mercurous 

nitrite.
	 3.	 He established the Bengal Chemical and 

Pharmaceutical Works in 1901.
		  Which of the statements given above are correct?
	 (a)	 1 and 2 only	 (b)	 1 and 3 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3
	 68.	 With reference to Pythagoras, consider the 

following statements:
	 1.	 was a French philosopher.
	 2.	 His theorem was related to mathematics.
	 3.	 He founded the secret society in Italy.
		  Which of the statement(s) given above is/are 

correct? 
	 (a)	 2 and 3 	 (b)	 2 only 
	 (c)	 1 and 3 	 (d)	 3 only
	 69.	 With reference to Alluri Sitarama Raju, consider 

the following statements:
	 1.	 Played a prominent role as a leader in the 

Rampa Rebellion/Manyam Rebellion of the 
year 1922.

	 2.	 He emphasized that India can be free only by 
the use of force and not by non-violence.

	 3.	 He was given the nickname Manyam Veerudu 
by the local villagers for his heroic deeds.

		  Which of the statement(s) given above is/are 
correct? 

	 (a)	 2 only	 (b)	 1 and 3 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3
	 70.	 Consider the following pairs:
		  Mauryan Pillar		  Located
	 1.	 Lauria-Nandan Pillar	—	 Gaya (Bihar)
	 2.	 Ashoka Pillar	 —	 Sanchi 
					    (Madhya Pradesh)
	 3.	 Ashoka's Lion Head	 —	 Sarnath
					    (Uttar Pradesh)
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	 	mi;ZqDr ;qXeksa esa ls fdrus ;qXe lgh lqesfyr gSa\
	 (a)	 dksbZ Hkh ;qXe ugha 	
	 (b)	 dsoy ,d ;qXe 
	 (c)	 dsoy nks ;qXe 
	 (d)	 lHkh rhuksa ;qXe 

	 71-	lkrokgu ds lanHkZ esa fuEufyf•r dFkuksa ij fopkj 
dhft;s%

	 1.	 iqjk.k vkSj ukfld ,oa ukukx<+ f'kykys• lkrokguksa 
ds bfrgkl ds fy;s egÙoiw.kZ lzksr gSA 

	 2.	 buds dky esa O;kikj o O;olk; esa pkanh ,oa rkacs 
ds flDdksa dk ç;ksx gksrk Fkk] ftls ^dk"kkZi.k* 
dgk tkrk FkkA 

	 3.	 rkezfyfIr lkrokgu oa'k dk çeq• canjxkg ,oa 
O;kikfjd dsaæ FkkA  

	 	mi;ZqDr dFkuksa esa ls dkSu&ls lgh gSa\
	 (a)	 dsoy 1 vkSj 2	 (b)	dsoy 1 vkSj 3
	 (c)	 dsoy 2 vkSj 3	 (d)	1] 2] vkSj 3 

	 72-	fuEufyf•r dFkuksa ij fopkj dhft;s 
	 1-	 ukxktZqudksaMk Lrwi dk fuekZ.k lkrokgu dky esa 

gqvk FkkA 
	 2-	 yksel ½f"k xqiQk dk fuekZ.k ekS;Z dky esa gqvk 

FkkA 

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 1 	 (b)	dsoy 2 
	 (c)	 1 vkSj 2 nksuksa 	 (d)	u rks 1 vkSj u gh 2 

	 73-	f'keyk le>kSrk 1972 ds lanHkZ esa fuEufyf•r dFkuksa 
ij fopkj dhft;s% 

	 1-	 ;g le>kSrk Hkkjr vkSj ikfdLrku ds eè; fla/q 
unh ds ty c¡Vokjs dks ysdj fd;k x;k FkkA 

	 2-	 bl le>kSrs ij bafnjk xka/h vkSj v;wc •ku us 
gLrk{kj fd;s FksA 

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 1 	 (b)	dsoy 2 
	 (c)	 1 vkSj 2 nksuksa 	 (d)	u rks 1 vkSj u gh 2 

	74-	jk"Vªh; tk¡p ,tsalh (NIA) ds lanHkZ esa fuEufyf•r 
dFkuksa ij fopkj dhft;s%

	 1.	 jkT; ljdkjsa vuqlwfpr vijk/ksa ls lacaf/r ekeyksa 
dks lh/s jk"Vªh; tk¡p ,tsalh dks Hkst ldrh gSA

	 2.	 jk"Vªh; tk¡p ,tsalh dk vf/dkj {ks=k dsoy Hkkjr 
dh lhek rd gh çHkkoh gSA

	 3.	 bldh LFkkiuk eqacbZ esa gq, vkradoknh geys 
(26@11) ds ckn dh xbZA 

	 4.	 ;g fdlh Hkh vuqlwfpr vijk/ dh tk¡p djrs 
le; fdlh vU; vijk/ dh Hkh tk¡p dj ldrh 
gS] ;fn vijk/ vuqlwfpr vijk/ ls tqM+k gSA 

		  How many of the above pairs are correctly 
matched?		

	 (a)	 None of the pairs are matched
	 (b)	 Only one pair
	 (c)	 Only two pairs	
	 (d)	 All three pairs
	 71.	 With reference to the Satavahanas, consider the 

following statements:
	 1.	 The Puranas and the Nasik and Nanagarh 

inscriptions are important sources for the 
history of the Satavahanas.

	 2.	 During his period silver and copper coins were 
used in trade and business, which was called 
'Karshapan'.

	 3.	 Tamralipti was the main port and trading 
center of the Satavahana dynasty.

		  Which of the statements given above are correct?
	 (a)	 1 and 2 only	 (b)	 1 and 3 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3
	 72.	 Consider the following statements
	 1.	 Nagarjunakonda Stupa was built during the 

Satavahana period.
	 2.	 The Lomas Rishi Cave was built during the 

Maurya period.
		  Which of the statement(s) given above is/are 

correct? 
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1, nor 2
	 73.	 With reference to Shimla Agreement 1972, 

consider the following statements:
	 1.	 This agreement was made between India and 

Pakistan regarding the water sharing of the 
Indus river.

	 2.	 This agreement was signed by Indira Gandhi 
and Ayub Khan.

		  Which of the statement(s) given above is/are 
correct? 

	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1, nor 2
	 74.	 With reference to the National Investigation 

Agency (NIA), consider the following statements:
	 1.	 The State Governments can refer cases 

related to scheduled offenses directly to the 
NationalInvestigation Agency.

	 2.	 The jurisdiction of the National Investigation 
Agency is effective only up to the extent of 
India.

	 3.	 It was established after the terrorist attack in 
Mumbai (26/11).

	 4.	 While investig at ingany scheduled offence, it 
may also inquire into any other offence, if the 
offense is connected with a scheduled offence.
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	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 vkSj 4	 (b)	1] 2 vkSj 3
	 (c)	 dsoy 3 vkSj 4	 (d)	dsoy 3

	75-	lhek lqj{kk cy ds lanHkZ esa fuEufyf•r dFkuksa ij 
fopkj dhft;s%

	 1.	 bls ikfdLrku vkSj phu dh lhek ij rSukr fd;k 
x;k gSA 

	 2.	 blds lqj{kk dehZ çfro"kZ la;qDr jk"Vª fe'ku ds 
fy;s ;ksxnku nsrs gSaA 

	 3.	 ;g ç/kuea=kh dk;kZy; ds ç'kklfud fu;a=k.k ds 
varxZr vkrs gSaA 

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 3 	 (b)	dsoy 2 
	 (c)	 1 vkSj 3 	 (d)	2 vkSj 3 

	76-	fuEufyf•r esa ls fdl lewg ds lHkh pkjksa ns'k dksyacks 
lqj{kk lewg ds lnL; gSa\

	 (a)	 Hkkjr] ekynho] Jhyadk] ekWjh'kl 
	 (b)	 Hkkjr] ls'kYl] Jhyadk] ckaXykns'k 
	 (c)	 ekynho] Jhyadk] ckaXykns'k] ls'kYl 
	 (d)	 Hkkjr] ckaXykns'k] ls'kYl] ekynho

	77-	vfXu&4 felkby ds lanHkZ esa fuEufyf•r dFkuksa ij 
fopkj dhft;s%

	 1.	 ;g ,d cSfyfLVd felkby gSA 
	 2.	 bldh ekjd {kerk 5500 fdeh gSA 
	 3.	 bldks bljks }kjk fodflr fd;k x;k gSA 

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 	 (b)	dsoy 3 
	 (c)	 1 vkSj 2 	 (d)	2 vkSj 3 

	78-	bLdanj&,e felkby ç.kkyh fuEufyf•r esa ls fdl 
ns'k us fodflr dh gS\

	 (a)	 btjkby 	 (b)	;w,l, 
	 (c)	 izQk¡l 	 (d)	:l 

	79-	jk"Vªh; vuqlwfpr tutkfr vk;ksx (NCST) ds laca/ 
esa fuEufyf•r dFkuksa ij fopkj dhft;s%

	 1.	 ;g ,d laoS/kfud fudk; gS vkSj Hkkjrh; lafo/ku 
ds vuqPNsn 336 ds rgr bldk xBu fd;k x;k gSA 

	 2.	 blesa ,d vè;{k] ,d mikè;{k vkSj 3 vU; lnL; 
gksrs gSa] ftudh fu;qfDr jk"Vªifr djrs gSaA 

	 3.	 vk;ksx dk ubZ fnYyh esa ,d LFkk;h lfpoky; 
vkSj ns'k Hkj esa 6 {ks=kh; dk;kZy; gSaA

	 	mi;ZqDr dFkuksa esa ls dkSu&ls lgh gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	dsoy 1 vkSj 3
	 (c)	 dsoy 2 vkSj 3	 (d)	1] 2] vkSj 3 

		  Which of the statement(s) given above is/are 
correct? 

	 (a)	 1 and 4 only	 (b)	 1, 2 and 3
	 (c)	 3 and 4 only	 (d)	 3 only
	 75.	 With reference to the Border Security Force, 

consider the following statements:
	 1.	 It has been deployed on the border of Pakistan 

and China.
	 2.	 Its security personnel contribute annually to 

the United Nations mission.
	 3.	 It comes under the administrative control of 

the Prime Minister's Office.
		  Which of the statement(s) given above is/are 

correct? 
	 (a)	 3 only	 (b)	 2 only
	 (c)	 1 and 3 	 (d)	 2 and 3 
	 76.	 All the four countries of which of the following 

group are members of Colombo Security Group?
	 (a)	 India, Maldives, Sri Lanka, Mauritius
	 (b)	 India, Seychelles, Sri Lanka, Bangladesh
	 (c)	 Maldives, Sri Lanka, Bangladesh, Seychelle
	 (d)	 India, Bangladesh, Seychelles, Maldives
	 77.	 With reference to Agni-4 missile, consider the 

following statements:
	 1.	 It is a ballistic missile.
	 2.	 Its range is 5500 km.
	 3.	 It has been developed by ISRO.
		  Which of the statement(s) given above is/are 

correct? 
	 (a)	 1 only	 (b)	 3 only
	 (c)	 1 and 2 	 (d)	 2 and 3 
	 78.	 Which of the following country has developed the 

Iskander-M missile system?
	 (a)	 Israel	 (b)	 USA
	 (c)	 France	 (d)	 Russia
	 79.	 With reference to the National Commission for 

Scheduled Tribes (NCST), consider the following 
statements:

	 1.	 It is a constitutional body and has been 
constituted under Article 336 of the Indian 
Constitution.

	 2.	 It consists of a President, a Vice-Chairman 
and 3 other members, who are appointed by 
the President.

	 3.	 The Commission has a Permanent Secretariat 
at New Delhi and 6 Regional Offices across 
the country.

		  Which of the statements given above are correct?
	 (a)	 1 and 2 only	 (b)	 1 and 3 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3
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	80-	fuEufyf•r ;qXeksa ij fopkj dhft;s%

		  tutkfr 		  jkT; 
	 1.	 xksaM	 —	 NÙkhlx<+
	 2.	 flíh	 —	 xqtjkr
	 3.	 laFkky	 —	 >kj•aM
	 4.	 dkycsfy;k	 —	 jktLFkku 

	 	mi;ZqDr ;qXeksa esa ls fdrus lgh lqesfyr gSa\

	 (a)	 dsoy ,d ;qXe 	 (b)	dsoy nks ;qXe 
	 (c)	 dsoy rhu ;qXe	 (d)	lHkh pkjksa ;qXe 

	 81-	fuEufyf•r esa ls fdu tutkfr dk laca/ xqtjkr ls gS\

	 1.	 Hkhy 	 2.	 jkBok 
	 3.	 iM+gkj 	 4.	 •fj;k 

	 	uhps fn;s x, dwV dk ç;ksx dj lgh mÙkj pqfu;s%

	 (a)	 dsoy 1 vkSj 4	 (b)	1] 2 vkSj 3
	 (c)	 dsoy 3 vkSj 4	 (d)	dsoy 3

	 82-	çfr cwan vf/d iQly ;kstuk ds lanHkZ esa fuEufyf•r 
dFkuksa ij fopkj dhft;s%

	 1-	 ;g lw{e flapkbZ gsrq dsaæ çk;ksftr ;kstuk gSA
	 2-	 ;g xzkeh.k fodkl ea=kky; ds rgr ç/kuea=kh Ñf"k 

flapkbZ ;kstuk (PMKSY) dk ,d ?kVd gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 	
	 (b)	 dsoy 2 
	 (c)	 1 vkSj 2 nksuksa 
	 (d)	 u rks 1 vkSj u gh 2 

	 83-	^ty 'kfDr vfHk;ku% dSp n jsu* ds lanHkZ esa fuEufyf•r 
dFkuksa ij fopkj dhft;s%

	 1-	 ;g ty 'kfDr ea=kky; }kjk 'kq: fd;k x;k ,d 
jk"VªO;kih vfHk;ku gSA

	 2-	 bl vfHk;ku dk è;s; gS] ^dSp n jsu] Ogs;j bV 
iQkWYl Ogsu bV iQkWYl*A

	 	mi;ZqDr esa ls dkSu lk@ls dFku lgh gS@gSa\

	 (a)	 dsoy 1 	 (b)	dsoy 2 
	 (c)	 1 vkSj 2 nksuksa 	 (d)	u rks 1 vkSj u gh 2 

	84-	ty lap;u dh ç.kkyh ds lanHkZ esa fuEufyf•r ;qXeksa 
ij fopkj dhft;s%

	 1-	 dqgy ç.kkyh 	 —	  fgekpy çns'k
	 2-	 ty ryS;k 	 —	 dukZVd 
	 3-	 gosyh ç.kkyh 	 —	 eè; çns'k 
	 4-	 bjh ç.kkyh 	 —	 rfeyukMq 
	 5-	 vVj ç.kkyh 	 —	 fcgkj 
	 6-	 tk•ks ç.kkyh 	 —	 mÙkjk•aM 

	 80.	 Consider the following pairs:
	 	 Tribe		  State
	 1.	 Gond	 —	 Chhattisgarh
	 2.	 Siddi	 —	 Gujarat
	 3.	 Santhal	 —	 Jharkhand
	 4.	 Kalbelia	 —	 Rajasthan
		  How many of the above pairs are correctly 

matched?		
	 (a)	 only one pair	 (b)	 only two pairs
	 (c)	 only three pairs	 (d)	 all four pairs
	 81.	 Which of the following tribes belongs to Gujarat?
	 1.	 Bhil	 2.	 Rathwa
	 3.	 Padhar	 4.	 Kharia
		  Select the correct answer using the codes given 

below : 
	 (a)	 1 and 4 only	 (b)	 1, 2 and 3
	 (c)	 3 and 4 only	 (d)	 3 only
	 82.	 With reference to the Per Drop More Crop Scheme, 

consider the following statements:
	 1.	 This is a centrally sponsored scheme for micro 

irrigation.
	 2.	 It is a component of Pradhan Mantri Krishi 

Sinchai Yojana (PMKSY) under the Ministry 
of Rural Development.

		  Which of the statement(s) given above is/are 
correct? 

	 (a)	 1 only	
	 (b)	 2 only
	 (c)	 Both 1 and 2
	 (d)	 Neither 1, nor 2
	 83.	 With reference to 'Jal Shakti Abhiyan: Catch the 

Rain', consider the following statements:
	 1.	 It is a nationwide campaign launched by the 

Ministry of Jal Shakti.
	 2.	 Themotto of this campaignis 'Catch the Rain, 

Where it Falls When it Falls'.
		  Which of the statement(s) given above is/are 

correct?		
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1, nor 2
	 84.	 With reference to the system of water harvesting, 

consider the following pairs:
	 1.	 Kuhl system	 —	 Himachal Pradesh
	 2.	 water tank	 —	 Karnataka
	 3.	 Mansion system￼		   Madhya Pradesh
	 4.	 Eri system	 —	 tamil nadu
	 5.	 Systematics	 —	 Bihar
	 6.	 Jakho system	 —	 Uttarakhand
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	 	mi;ZqDr ;qXeksa esa ls dkSu&ls lgh lqesfyr gSa\

	 (a)	 dsoy 2] 3 vkSj 5 
	 (b)	 dsoy 1] 3] 4 vkSj 5
	 (c)	 dsoy 1] 2] 4 vkSj 6 
	 (d)	 1] 2] 3] 4] 5 vkSj 6 

	85-	^ty in fpÉ^ fuEufyf•r esa ls fdls lanfHkZr djrk gS\

	 (a)	 ikuh dh dqy ek=kk dks 
	 (b)	 •kjs ty dh dqy ek=kk dks 
	 (c)	 LoPN ty ;k ehBs ty dh dqy ek=kk dks 
	 (d)	 o"kkZ ty dh dqy ek=kk dks 

	86-	fuEufyf•r ;qXeksa ij fopkj dhft;s%

	 1.	 eq[;ea=kh ty Lokoyacu vfHk;ku — jktLFkku 
	 2.	 ty;qDr f'kcj 	 		 — egkjk"Vª 
	 3.	 fe'ku dkdrh; 	 		 — vka/z çns'k 
	 4.	 ty thou gfj;kyh 	 		 — gfj;k.kk 

	 	mi;ZqDr ;qXeksa esa ls fdrus lgh lqesfyr gSa\

	 (a)	 dsoy ,d ;qXe 	 (b)	dsoy nks ;qXe 
	 (c)	 dsoy rhu ;qXe	 (d)	lHkh pkjksa ;qXe 

	87-	Xykscy tsaMj xSi fjiksVZ 2022 ds lanHkZ esa fuEufyf•r 
dFkuksa ij fopkj dhft;s%

	 1.	 bls fo'o vkfFkZd eap }kjk tkjh fd;k tkrk gSA 
	 2.	 bl fjiksVZ ds vuqlkj fiQuySaM nqfu;k dk lcls 

vf/d fyax&lekurk okyk ns'k gSA 
	 3.	 bl fjiksVZ esa Hkkjr dk LFkku 146 ns'kksa esa ls 

135ok¡ gSA 

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 	 (b)	dsoy 3 
	 (c)	 1 vkSj 2 	 (d)	1 vkSj 3 

	88-	fuEufyf•r ;qXeksa ij fopkj dhft;s%

		  fjiksVZ@lwpdkad  		 tkjhdrkZ
	 1.	 bafM;k ck;ksbdkWueh	 —	tSo çkS|ksfxdh m|ksx 
	 	 fjiksVZ 	 	vuqla/ku lgk;rk 
	 	 		 	ifj"kn 
	 2.	 vfookfgr O;fDr;ksa	 —	jk"Vªh; lkaf[;dh 
	 	 ij fjiksVZ	 	dk;kZy;
	 3.	 bafM;k buksos'ku baMsDl 	—	uhfr vk;ksx 

	 	mi;ZqDr ;qXeksa esa ls fdrus ;qXe lgh lqesfyr gSa\

	 (a)	 dksbZ Hkh ;qXe ugha 	 (b)	dsoy ,d ;qXe 
	 (c)	 dsoy nks ;qXe	 (d)	dsoy rhu ;qXe

	89-	gsuys ikliksVZ baMsDl&2022 ds lanHkZ esa fuEufyf•r 
dFkuksa ij fopkj dhft;s%

	 1.	 bl fjiksVZ ds vuqlkj Hkkjr fcuk iwoZ ohtk ds 60 
ns'kksa esa ck/k eqDr ços'k dj ldrk gSA 

		  Which of the above pairs are correctly matched?
	 (a)	 2, 3 and 5 only
	 (b)	 1, 3, 4 and 5 only
	 (c)	 1, 2, 4 and 6 only
	 (d)	 1, 2, 3, 4, 5 and 6
	 85.	 'Water Footprint' refers to which of the following?
	 (a)	 The total amount of water
	 (b)	 Total amount of salt water
	 (c)	 The total amount of fresh water or fresh water
	 (d)	 The total amount of rainwater
	 86.	 Consider the following pairs:
	 1.	 Mukhyamantri Jal	 —	 Rajasthan
		  Swavlamban Abhiyan
	 2.	 Jalyukt-Shivar	 —	 Maharashtra
	 3.	 Mission Kakatiya	 —	 Andhra Pradesh
	 4.	 Jal Jeevan Hariyali	 —	 Haryana
		  How many of the above pairs are correctly 

matched?		
	 (a)	 Only one pair	 (b)	 Only two pairs
	 (c)	 Only three pairs	 (d)	 all four pairs
	 87.	 With reference to the Global Gender Gap Report 

2022, consider the following statements:
	 1.	 It is issued by the World Economic Forum.
	 2.	 According to this report, Finland is the most 

gender-equal country in the world.
	 3.	 India ranks 135th out of 146 countries in this 

report.
		  Which of the statement(s) given above is/are 

correct? 
	 (a)	 1 only	 (b)	 3 only
	 (c)	 1 and 2	 (d)	 1 and 3 
	 88.	 Consider the following pairs:
		  Report/Index		  Publishedby
	 1.	 India Bioeconomy	 —	 Biotechnology 
			  Report		  Industry Research 	

			  Assistance Council
	 2.	 Report on unmarried	—	 National statistical 

persons 	 	 Office
	 3.	 India Innovation	 —	 NITI Aayog
		  Index
		  How many of the above pairs are correctly 

matched?		
	 (a)	 None of the pairs are matched
	 (b)	 Only one pair
	 (c)	 Only two pairs
	 (d)	 Only three pairs
	 89.	 With reference to Henley Passport Index-2022, 

consider the following statements:
	 1.	 According to this report, India can enter 60 

countries without a prior visa barrier-free.
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	 2.	 vesfjdk fo'o esa lcls 'kfDr'kkyh ikliksVZ lwph 
esa 'kh"kZ 10 ns'kksa esa 'kkfey gSA 

	 	mi;ZqDr esa ls dkSu lk@ls dFku lgh gS@gSa\

	 (a)	 dsoy 1 	 (b)	dsoy 2 
	 (c)	 1 vkSj 2 nksuksa 	 (d)	u rks 1 vkSj u gh 2 

	90-	fuEufyf•r ;qXeksa ij ij fopkj dhft;s %

	 1.	 ,lMhth 5 	 	 — ySafxd lekurk 
	 2.	 ,lMhth 6 	 	 —  lLrh vkSj LoPN ÅtkZ 
	 3.	 ,lMhth 13 	 	 — Hkwfe ij thou 
	 4.	 ,lMhth 15 	 	 — tyok;q dkjZokbZ 

	 	mi;ZqDr ;qXeksa esa ls fdrus ;qXe lgh lqesfyr gSa\

	 (a)	 dsoy ,d ;qXe 	 (b)	dsoy nks ;qXe
	 (c)	 dsoy rhu ;qXe	 (d)	lHkh pkjksa ;qXe 

	 91-	fuEufyf•r ;qXeksa ij fopkj dhft;s%

	 1.	 yksel ½f"k xqiQk 	 —	fcgkj 
	 2.	 ekux<+ igkM+h 	 —	jktLFkku xqtjkr lhek 
	 3.	 •ktkxqMk fgYl	  —	 dukZVd  

	 	mi;ZqDr ;qXeksa esa ls fdrus ;qXe lgh lqesfyr gSa\

	 (a)	 dksbZ Hkh ;qXe ugha 	 (b)	dsoy ,d ;qXe 
	 (c)	 dsoy nks ;qXe 	 (d)	lHkh rhuksa ;qXe 

	 92-	fuEufyf•r ;qXeksa ij fopkj dhft;s%

		  ns'k 		  gky gh esa lekpkjksa 	
			  esa gksus dk egÙoiw.kZ 	
			  dkj.k

	 1.	 vkWLVªsfy;k 	 —	 fo'o dh lcls cM+h 	
		 	 gkMZ&jkWd fyfFk;e •nku 

	 2.	 LdkWVySaM 	 —	 vDrwcj 2023 esa Lora=krk 
	 	 		 	 ds fy;s tuer laxzg djkus 
	 	 		 	 dh ?kks"k.kk 
	 3.	 m”csfdLrku	 —	 djkdYidLrku {ks=k esa 
	 	 		 	 ukxfjdksa dk fojks/ çn'kZu 

	 	mi;ZqDr ;qXeksa esa ls fdrus ;qXe lgh lqesfyr gSa\

	 (a)	 dksbZ Hkh ;qXe ugha 
	 (b)	 dsoy ,d ;qXe 
	 (c)	 dsoy nks ;qXe 
	 (d)	 lHkh rhuksa ;qXe 

	 93.	 ekux<+ igkM+h ds lanHkZ esa fuEufyf•r dFkuksa ij fopkj 
dhft;s%

	 1.	 1913 esa ;gk¡ vkfnoklh foæksg gqvk FkkA 
	 2.	 vkfnoklh tfy;k¡okyk ds uke ls Hkh tkuk tkrk gSA 

	 	mi;ZqDr esa ls dkSu lk@ls dFku lgh gS@gSa\

	 (a)	 dsoy 1 	 (b)	dsoy 2 
	 (c)	 1 vkSj 2 nksuksa 	 (d)	u rks 1 vkSj u gh 2 

	 2.	 America is among the top 10 countries in the 
list of most powerful passports in the world.

		  Which of the statement(s) given above is/are 
correct? 

	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1, nor 2
	 90.	 Consider the following pairs:
	 1.	 SDG 5	￼ —	￼ Gender equality
	 2.	 SDG 6	￼ — 	￼ Affordable and clean energy
	 3.	 SDG 13	 —	￼ life on land
	 4.	 SDG 15	 —	￼ Climate action
		  Which of the following pairs is correctly 

matched		
	 (a)	 Only one pair	 (b)	 Only two pairs
	 (c)	 Only three pairs￼	￼  (d)	All four pairs
	 91.	 Consider the following pairs:
	 1.	 Lomas Rishi Cave	 —	 Bihar
	 2.	 Mangarh Hill	 —	 Rajasthan Gujarat 
					    Border
	 3.	 Khajaguda Hills	 —	 Karnataka
		  How many of the above pairs are correctly 

matched?
	 (a)	 None of the pairs are matched
	 (b)	 Only one pair
	 (c)	 Only two pairs	
	 (d)	 All three pairs
	 92.	 Consider the following pairs:
	 	 Country		  Important reason 	

			  to beinnews 	
			  recently

	 1.	 Australia	 —	 World's largest hard-
					    rock lithium mine
	 2.	 Scotland	 —	 Announcement to 
					    hold a referendum on 
					    independence in 
					    October 2023 
	 3.	 Uzbekistan	 —	 Civilian protests in 
					    Karakalpakstan region
		  How many of the above pairs are correctly 

matched?
	 (a)	 None of the pairs are matched 
	 (b)	 Only one pair
	 (c)	 Only two pairs	
	 (d)	 All three pairs
	 93.	 With reference to Mangarh hill, consider the 

following statements:
	 1.	 In 1913 there was a tribal revolt here.
	 2.	 Also known as Adivasi Jallianwala.
		  Which of the statement(s) given above is/are 

correct?		
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1, nor 2
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	 94.	 i`Foh&II felkby ds lanHkZ esa fuEufyf•r dFkuksa ij 
fopkj dhft;s%

	 1.	 ;g lrg ls gok ij ekj djus okyh felkby gSA 
	 2.	 bldh ekjd {kerk 450 fdeh gSA 
	 3.	 ;g felkby rjy ç.kksnd okys fV~ou batu }kjk 

lapkfyr gSA 
	 4.	 bls MhvkjMhvks }kjk fodflr fd;k x;k gSA 

	 	mi;ZqDr dFkuksa esa ls dkSu&ls lgh gSa\

	 (a)	 1 vkSj 4 	 (b)	 3 vkSj 4 
	 (c)	 2 vkSj 3 	 (d)	 1 vkSj 2

	95-	fuEufyf•r dFkuksa ij fopkj dhft;s%

	 1.	 Hkkjr jktdh; çrhd (mi;ksx dk fofu;eu) fu;e 
2007 ds rgr jktdh; çrhd dk mi;ksx dsoy 
Hkkjr ds jktdh; çrhd (vuqfpr mi;ksx dk 
fu"ks/) vf/fu;e 2005 ds çko/ku ds vuqlkj 
fd;k tk ldrk gSA 

	 2.	 dkuwu dk mYya?ku djus ij 2 o"kZ dh ltk dk 
çko/ku fd;k x;k gSA 

	 	mi;ZqDr esa ls dkSu lk@ls dFku lgh gS@gSa\

	 (a)	 dsoy 1 	 (b)	dsoy 2 
	 (c)	 1 vkSj 2 nksuksa 	 (d)	u rks 1 vkSj u gh 2 

	 96-	lkekftd&vkfFkZd vkSj tkfrxr tux.kuk (SECC) ds 
lanHkZ esa fuEufyf•r dFkuksa ij fopkj dhft;s%

	 1.	 o"kZ 1931 ds ckn o"kZ 2011 esa SECC dks igyh 
ckj vk;ksftr fd;k x;k FkkA 

	 2.	 ;g SECC jkT; }kjk lgk;rk ds ;ksX; ykHkkfFkZ;ksa 
dh igpku djus dk ,d lk/u gSA 

	 	mi;ZqDr esa ls dkSu lk@ls dFku lgh gS@gSa\

	 (a)	 dsoy 1 	 (b)	dsoy 2 
	 (c)	 1 vkSj 2 nksuksa 	 (d)	u rks 1 vkSj u gh 2 

	97-	ghVoso ds lanHkZ esa fuEufyf•r dFkuksa ij fopkj dhft;sA 

	 1.	 IMD bldh ?kks"k.kk rc djrh gS] tc eSnkuh bykdksa 
esa fdlh LFkku dk rkieku vf/dre (fnu) 40 
fMxzh lsfYl;l ls vf/d gks tkrk gSA 

	 2.	 IMD bldh ?kks"k.kk rc djrh gS] tc igkM+h bykdksa 
esa fdlh LFkku dk rkieku vf/dre (fnu) 30 
fMxzh lsfYl;l ls vf/d gks tkrk gSA

	 3.	 Hkkjr esa ekpZ ls twu ds chp ghVoso dh fLFkfr 
gksrh gSA 

	 	mi;ZqDr dFkuksa esa ls dkSu&ls lgh gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	dsoy 1 vkSj 3
	 (c)	 dsoy 2 vkSj 3	 (d)	1] 2 vkSj 3 

	 94.	 With reference to Prithvi-II missile, consider the 
following statements:

	 1.	 It is a surface-to-air missile.
	 2.	 It has a range of 450 km.
	 3.	 The missile is powered by twin engines with 

liquid propellant.
	 4.	 It has been developed by DRDO.
		  Which of the statements given above are correct?
	 (a)	 1 and 4	 (b)	 3 and 4 
	 (c)	 2 and 3 	 (d)	 1 and 2
	 95.	 Consider the following statements:
	 1.	 Under the State Emblem of India (Regulation 

of Use) Rules 2007, the State Emblem can be 
used only in accordance with the provision 
of the State Emblem of India (Prohibition of 
Improper Use) Act 2005.

	 2.	 There is a provision of imprisonment for 2 
years for violating the law.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1, nor 2
	 96.	 With reference to the Socio-Economic and Caste 

Census (SECC), consider the following statements:
	 1.	 SECC was organized for the first time in the 

year 2011 after the year 1931.
	 2.	 It is a means of identifying the eligible 

beneficiaries of SECC assistance by the State.
		  Which of the statement(s) given above is/are 

correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1, nor 2
	 97.	 With reference to heatwave, consider the following 

statements:
	 1.	 IMD declares it when the maximum (day) 

temperature of a place in the plains exceeds 
40 °C.

	 2.	 IMD declares it when the maximum (day) 
temperature of a place in hilly areas exceeds 
30 °C.

	 3.	 India experience she at wave from Marchto 
June.

		  Which of the statements given above are correct?
	 (a)	 1 and 2 only	 (b)	 1 and 3 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3 
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	98-	fxx bdksukWeh ds lanHkZ esa fuEufyf•r dFkuksa ij fopkj 
dhft;s%

	 1.	 e”knwjh lafgrk vf/fu;e] 2019 fxx Jfedksa ds 
fy;s U;wure e”knwjh dk çko/ku ugha djrh gSA

	 2.	 lkekftd lqj{kk lafgrk] 2020 fxx Jfedksa dks ,d 
ubZ O;kolkf;d Js.kh ds :i esa ekU;rk nsrh gSA

	 3.	 bZ&Je iksVZy dk mn~ns'; fxx Jfedksa lfgr 
vlaxfBr dkexkjksa dk MsVkcsl rS;kj djuk gSA 

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 1 vkSj 2	 (b)	dsoy 1
	 (c)	 2 vkSj 3	 (d)	1] 2 vkSj 3 

	 99.	 Hkkjr ds v|ru jk"Vªh; Lrj ij fu/kZfjr ;ksxnku (NDC) 
ds lanHkZ esa fuEufyf•r dFkuksa ij fopkj dhft;s%

	 1.	 ;g o"kZ 2005 ds Lrj ls o"kZ 2030 rd vius 
ldy ?kjsyw mRikn dh mRltZu rhozrk dks 45% 
rd de dj nsxkA

	 2.	 ;g o"kZ 2030 rd xSj&thok'e bZa/u&vk/kfjr 
ÅtkZ lalk/uksa ls 50% lap;h fo|qr 'kfDr LFkkfir 
{kerk çkIr djsxkA

	 3.	 Hkkjr 2030 rd viuh ÅtkZ vko';drk dk 50 
çfr'kr uohdj.kh; ÅtkZ ls iwjk djsxkA 

	 4.	 Hkkjr vius dqy vuqekfur dkcZu mRltZu dks vc 
ls 2030 rd 2 vjc Vu de djsxkA 

	 	mi;ZqDr dFkuksa esa ls dkSu&ls lgh gSa\

	 (a)	 dsoy 1] 2 vkSj 3	 (b)	dsoy 1] 2 vkSj 4
	 (c)	 dsoy 3 vkSj 4 	 (d)	1] 2] 3 vkSj 4

	100.	 Hkkjrh; lafo/ku esa vuqlwfpr tutkfr;ksa ds lanHkZ esa 
fuEufyf•r dFkuksa ij fopkj dhft;s %

	 1.	 vuqlwfpr tutkfr 'kCn lafo/ku esa vuqPNsn 342 
(i) ds ekè;e ls tksM+k x;k FkkA

	 2.	 lafo/ku dh NBh vuqlwph vuqlwfpr {ks=kksa okys 
çR;sd jkT; esa ,d tutkfr lykgdkj ifj"kn dh 
LFkkiuk dk çko/ku djrh gSA

	 3.	 vuqPNsn 332 jkT; fo/kulHkkvksa esa vuqlwfpr 
tutkfr;ksa ds fy;s lhVksa ds vkj{k.k dk çko/ku 
djrk gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&ls lgh gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	dsoy 1 vkSj 3
	 (c)	 dsoy 2 vkSj 3	 (d)	1] 2 vkSj 3

	 98.	 With reference to the gig economy, consider the 
following statements:

	 1.	 The Wages Code Act, 2019 does not provide 
for minimum wages for gig workers.

	 2.	 The Social Security Code, 2020 recognizes 
gig workers as a new occupational category.

	 3.	 The objective of e-shram portal is to create 
a database of unorganized workers including 
gig workers.

		  Which of the statement(s) given above is/are 
correct? 

	 (a)	 1 and 2	 (b)	 1 only
	 (c)	 2 and 3	 (d)	 1, 2 and 3 
	 99.	 With reference to the latest Nationally Determined 

Contribution (NDC) of India, consider the 
following statements:

	 1.	 It will reduce the emission intensity of its GDP 
by 45% by 2030 from 2005 levels.

	 2.	 It will achieve 50% cumulative electric power 
installed capacity by 2030 from non-fossil 
fuel-based energy resources.

	 3.	 India will meet 50% of its energy requirement 
from renewable energy by 2030.

	 4.	 India will reduce its total estimated carbon 
emissions by 2 billion tonnes by 2030 from 
now.

		  Which of the statements given above are correct?
	 (a)	 1, 2 and 3 only	 (b)	 1, 2 and 4only
	 (c)	 3 and 4 only	 (d)	 1, 2, 3 and 4
	100.	 With reference to Scheduled Tribes in the Indian 

Constitution, consider the following statements:
	 1.	 The word Scheduled Tribe was added to the 

Constitution through Article 342 (i).
	 2.	 The Sixth Schedule of the Constitution 

provides for the establishment of a Tribal 
Advisory Council in every State having 
Scheduled Areas.

	 3.	 Article 332 provides for the reservation of 
seats for the Scheduled Tribes in the State 
Legislative Assemblies.	

		  Which of the statements given above are correct?
	 (a)	 1 and 2 only	 (b)	 1 and 3 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3 


